Product Description

Tool changers Moduflex-series

Mo723-1 [

Tool changers | Swivels | Swivels with Tool changers | Grippers | Hose packages | Valve Units | Tool systems

/ products






The information in this document is subject to change without prior notice and should not be
regarded as an undertaking from Robot System Products AB. Robot System Products AB
assumes no responsibility for errors that may occur in this document.

Robot System Products AB bears no responsibility for damage that is incurred by the use of this
document, or the software or hardware described in this document.

The document, or parts of it, may not be reproduced or copied without prior permission from
Robot System Products AB. It may neither be imparted to a third party, nor otherwise be used
without authorization. Infringement hereof will be subject to action in accordance with the
applicable laws.

Further copies of this document can be obtained from Robot System Products AB at
current prices.

© Robot System Products AB

Robot Systems Products AB
Isolatorvagen 4

SE-721 37 Vasteras
Sweden



CONTENTS

L INTRODUCGTION ..eiiiieii et e e e e e e e s e e eaan e e eanneees 7
1.1 RSP t00] CRANGETS ...ttt 8
1.2 DOCUMEIES ...ttt ettt e e ettt e e e e et ettt e e e e e e et e eettb e e e e e e e e e enbba e e eeaeas 8
1.3 WWBAK PAITS. ... ettt e e e et e e e et e e e 8
1.4 Complementary equipment from RSP .........coooiiiiiiiiiiiiiiee 8

2 TECHNICAL SPECIFICATIONS ... e 9
2.1 Description of tool changers and tool attaChmeNnts ...............uuvvvviiiiiiiiiiiiiiiiii. 9

2.1.1 Coordinate System DefinitioN............ueiiiiiiiiiiiiiiiic e e 10
2.1.2 Tool changer TC240-1, basic unit. Article: PE70LA .......c..ooii i 11
2.1.3 Tool attachment TA240-1, basic unit. Article: PE702.........ccoeiiiiiiiiiiiieeeiiiieeee e 12
2.1.4 Tool changer TC480-1, basic units. Article: PE80LA ........ccooiiiiiiiiiieeeiieee e 13
2.1.5 Tool attachment TA480-1, basic unit. Article: PE802..........ccccoiiiiiiiiiiieeiiiiiieeeee e 14
2.1.6 Tool changer TC480-1, basic units. Article: PE851A ........coovveiiiiiiiiiieeee e 15
2.1.7 Tool attachment TA480-1, basic unit. Article: PB872 ........cooeeiiiiiiieiieeieeeeeeeeieee e 16
2.1.8 Tool changer TC720-1, basic unit. Article: PE90LA ... 17
2.1.9 Tool attachment TA720-1, basic unit. Article: PE902A ..o 18
2.1.10 Tool changer TC720-1, basic unit. Article: PB947........cccoooiiiiiiieiceccccereeee e 19
2.1.11 Tool attachment TA720-1, basic unit. Article: PE948 ... 20
2.1.12 Tool changer TC960-1, basic unit. Articles: P7901A and P7901A-1.......ccccooviiiiiiiiinnnn. 21
2.1.13 Tool attachment TA960-1, basic unit. Article: P7902A ... 22
2.1.14 Pneumatic diagram Pne0230-008 for TC240-1 and TC480-1 .......ccccoeeveeieiieiicciiiceenennnn 23
2.1.15 Pneumatic diagram Pne0230-011 for TC720-1 and TC960-1 ..........ccccceveeriuieeeeiiineeeenns 24
2.2 Options for tool changers and tool attachments.............ccoovviiiiiii e e, 25
2.2.1 Integrated valve, TC Open/Close for TC240 and TC480. Article: P6718 .........ccccceeennnn. 25
2.2.2 Integrated valve, TC Open/Close for TC720 and TC960. Article: P7710 ........ccccceeeennnnn. 26
2.2.3 Valve adapter (external valve). Article: P7084 ........cccooooioiiiiiiieccece e 27
2.2.4 Magnetic sensors TC Opened/TC Closed. P6789, P6873-2, P7174 and P7175 ............ 28
2.2.5 Signal interface Souriau, robot side. Article: P6738-1 .......cccoooiiieiiiieiieieeeeeeeeeccc s 29
2.2.6 Signal interface Souriau, tool side, Article: P6739 ......ccvvviiiiee e 30
2.2.7 Circuit diagram E0L178-246 fOr PB738-L........cuueiiiiiiiieiiiiiee ittt 31
2.2.8 Circuit diagram EQL178-247 fOr PB739......ccoiiiiiiiiiiiiee ittt 32
2.2.9 Signal interface Souriau, robot side. Article: P7224..........ovoeiiiiiciiiiie e 33
2.2.10 Signal interface Souriau, tool side, Article: P7225 ... 34
2.2.11 Circuit diagram EOQL178-764 fOr P7224 ........ccuueiiiiiiiiiiiie ettt 35
2.2.12 Circuit diagram EQL78-765 fOr P7225..... ..o 36
2.2.13 Signal interface Souriau, robot side. Article: P6711........cccooiiiiiiiiiiiiieiceeeeec e 37
2.2.14 Signal interface Souriau, tool side, Article: PE721 .......ccccoooiiiiiiiiiiieecccceeee 38
2.2.15 Circuit diagram EOQL78-207 fOr PO7LL.... .o 39
2.2.16 Circuit diagram EQL78-208 fOr PO72L ... ..o 40
2.2.17 Servo interface M23, robot side. Article: P6768-2...........ccoiiiiiiiiiiiieeeieeeee e 41
2.2.18 Servo interface M23, tool side, ArtiCle: PB772-2 ........ooeuueeei et 42
2.2.19 Circuit diagram E0178-314 fOr PB768-2.........ccciiiuiiiiiiiiiieiiiiiee it 43
2.2.20 Circuit diagram EO0L178-321 fOr PB772-2.........ceeiiiiiiieiiiiiee it 44
2.2.21 Field bus interface Profinet, robot side. Article: PO771 .........coovvvevevieeieeeieeeeeieeee e 45
2.2.22 Field bus interface Profinet, tool side, ArtiCle: PE775 ......ceeieeiiieeieeieeeeeeeeieee e 46
2.2.23 Circuit diagram EO0L178-317 fOr PB77L.......cccuueiiiiiiieeiiiieee ettt a7
2.2.24 Circuit diagram E0Q178-320 fOr PB775 ...ttt 48
2.2.25 Signal and servo interface, robot side. Article: PE778 ... 49
2.2.26 Signal and servo interface, tool side. Article: PE779 ... 50

4 MO0723-1 version 3.8



2.2.27 Circuit diagram E0230-290 fOr PE778........ccuvieeiiiiiieiieeee e secieeee e e e s e e e e e e e nnneneees 51

2.2.28 Circuit diagram E0230-291 fOr PO779 .......uueiiiiiiiiiiiee et 53
2.2.29 Signal and field bus interface, robot side. Article: P6780..........cccceevviiiiieiniiieeeniiee e, 54
2.2.30 Signal and field bus interface, tool side. Article: P678L .........coccocveeiiiiieeiniiiee e, 55
2.2.31 Circuit diagram E0230-292 fOr PB780..........ccoiiiiiieiiiiieiiite et 56
2.2.32 Circuit diagram E0230-293 fOr PB781L..........ccoiiiiiiiiiiieeiiiee e 58
2.2.33 Water/air coupling, 1-4 channels, robot side. Article: P6715A ..o, 59
2.2.34 Water/air coupling, 1-4 channels, tool side. Article: PE725A ........ccccoeeeviviiiiieeeee e 60
2.2.35 Weld power connector M40, robot side. Article: PE716 ........ccccccveeeeviiciiieiee e, 61
2.2.36 Weld power connector M50, robot side. Article: P6784 ...........cccceeeeee i 62
2.2.37 Weld power connector with MC connector, robot side. Article: P6717 ..........ccccccvvvnee.. 63
2.2.38 Weld power connector with RobiFix, robot side. Article: P6794 ..........ccccccvveeevvvicivnnnen. 64
2.2.39 Weld power with cable gland, tool side. Article: P6726 ........ccccccveeeeeiiciiiieeee e 65
2.2.40 Weld power connector 2 x M40, robot side. Article: PE766 ...........ccccceccvvveeeeeeevecicvnnnnnn, 66
2.2.41 Weld power with 2 x cable gland, tool side. Article: PE767..........cccoccvveeiiiiieiiniiee e, 67
2.2.42 Weld power contact cover, tool side. Article: PE742 .........cccccoviiiiiiiiiiieee e 68
2.2.43 Air coupling, 8 channels, robot side. Article: PEBAT ..........ccceeviiiiiiiiiieeieeeeee e 69
2.2.44 Air coupling, 8 channels, tool side. Article: P6848 ...........cooocciviiiiieeiiiiiiieeee e 70
2.2.45 Programming tool for TC480. Article: P7160 ........ccoociiiiiiiiiieiiiee e 71
2.2.46 Programming tool for TC480. Article: P7L16L .......ccooviiiiiiiiiieeeiieee e 71
2.2.47 TC ground soCKet. ArtiCle: P7239 .......uuuuiuiiiiiiii s 73
2.2.48 TA ground SOCKet. ArtiCIE: PT7LAT ......uueieii s 73
2.2.49 Forced opening Kit. Article: P10 .........uuuuuiuuiiiiiiiiiii s 74
2.2.50 R0ObOt adaptation KitS............uuuuuuuuuuiiiiiiiiiii s 74
2.3 Limitation of RODOt MOVEMENTS ......ccoviiiiiiiieie e e 74
3 TC OPERATION AND INTERFACE. ... o e 75
3.1 Required Software fUNCHION............coiiiiiiiiiiiiiiieeeeeeeeeee e 75
KT 0= 11 (1 [ PR 78
TG I md (oTo | =0 41 1 4T a Vo TSRS 78
G I o T IR = 1 o 1S 78
TSI e o I o [=7 o1 ] o= 11T o I PP 78
4 SPARE PAR T S e 79
4.1 TOOI CRANGET ..ttt 79
4.1.1 Parts list fTor TC240-1, PBTOLA ..ottt e e e e e e e e e e e e e e eearaa s 79
4.1.2 Parts list for TC480-1, P6801A and PB85ILA........ccoooeeeee e 81
4.1.3 Parts list for TC720-1, P6901A And PBOAT ........ oot 82
4.1.4 Parts list for TC960-1, P7901A and P7901A-1 ....ccoiiiiieiiiiiee it ssieee e 83
4.1.5 Parts list for integrated valve, P7710 ... 84
4.1.6 Parts list for Valve adapter, P7084............coooiiiii 85
4.1.7 Parts list for magnetic sensors, P7172, P7173, P7174 and P7175.................ccc . 85
4.1.8 Parts list for forced opening kit, P6910 ..., 86
4.1.9 Parts list for signal interface, P6738-1, P7224, P6711 and P6771.................ccoeoeeeee. 86
4.1.10 Parts list for servo interface M23, PE768-2 ..........coiiiiiiiiiiiiiiiieeeee e 87
4.1.11 Parts list for signal interface, P6778 and PB780 ...........ccccuvviiieieeeiiiiiiiir e csinieeee e 87
4.1.12 Parts list for weld power connector, P6716, P6784 and P6717 .........cccccceeevviccvvvinnnenenn. 88
4.1.13 Parts list for water/air coupling, PB7L5A .....couviiiiiiieie e 89
4.1.14 Parts list for air CoOUpliNg, PB8AT .......ccoiiuiiiiiiiiii ittt 89

MO0723-1 version 3.8



R o To | I= 11 = Tod a1 4 <1 | PR a0

4.2.1 Parts list for tool attachments, P6702, P6802 and P6872 ...........ccccocvviiveennieiieee e 90
4.2.2 Parts list for tool attachments, P6902A, P7902A and PB948............cccccovvieieiniieeeiiiieeenn 90
4.2.3 Parts list for signal interface, P6739, P7225, P6721 and PB775 ........cccoocvveeiiiieeeiiiieeen, 91
4.2.4 Parts list for power interface M23, PO772-2 ........cooiiiiiiiiiiiee ittt 91
4.2.5 Parts list for signal interface, P6779 and PB78L .........cccocuiiiiiiiiiiieiiiiiie e 92
4.2.6 Parts list for weld power CONNECLOr, PBT726 .........c.coouiiiiiiiiiieiiiieee et 93
4.2.7 Parts list for water/air coupling, PB725A ......coouiiiiiiiiiieieeee et 94
4.2.8 Parts list for air coupling, PBB48............cuuiiiiiiiiiiiieieee et r et e e e 94

MO0723-1 version 3.8



1 INTRODUCTION

Robot System Products is a front-rank provider of peripheral products for high performance
robot applications. We provide complete system solutions for your robot installations, aiming to
improve your productivity with the most reliable and cost-effective tooling on the market.
Continuously we explore emerging technologies, working with leading edge design.

Robot System Products has a wide range of standard robot peripheral products:

Tool changers
Swivels

Swivel tool changers
CiRo

Grippers

Hose Packages
Valve units

Tool systems

Tool parking systems

Robot System Products’ tool changers are constructed to maximize the flexibility and reliability
of your robot fleet. Through our patented locking device TrueConnect™ robustness and high
safety are combined with low weight and compactness. With our swivels compressed air, water,
electrical and data signals as well as weld and servo power are transferred to your tools with
robot motion capabilities fully maintained. Our swivel tool changers unite the TrueConnect™
mechanism with our swivel technology, combining the best out of the two technologies. With
RSP’s cost-effective CiRo, cables and hoses can be freely selected with high robot flexibility
maintained, and space requirements reduced. Our integrated tool systems are delivered as
complete plug-and-play solutions designed for quick and simple installation.

Robot System Products’ product lines are available for all major robot brands and come with
complete documentation. 3D-models for simulation are available for download at:
WWW.ISp.eu.com

MO0723-1 version 3.8 7


http://www.rsp.eu.com/

1.1 RSP tool changers

The Robot System Products’ tool changers enable robots to handle and switch between multiple
tools. They are built to ensure reliable and smooth operation, being compact with low weight and
robust design and incorporating many safety features. Depending on model and options,
electrical signals, weld and servo power, data, water and compressed air are transferred from
the robot side to the tool.

The patented locking device TrueConnect™ has a minimum of play and gives a practically,
through the lifespan, absolute positioning repeatability. The principle behind the locking
mechanism is the uniform distribution of load obtained by pressing locking balls into spherical
cavities. In consequence, substantially larger positional tolerances are accepted during docking.
A built-in spring ensures that the tool remains in place in the tool changer even if the air pressure
drops.

1.2 Documents

This document, Product Description, contains product information, drawings, data, electrical and
pneumatic diagrams, required safety software functions and lists of spare parts. In the document
Installation and Maintenance (M0720-1) procedures for mounting, installation, replacement of

equipment is described together with instructions related to maintenance activities and intervals.

1.3 Wear parts

Wear parts should be replaced before considerable damage occurs. The interval depends on the
number of tool changes and its working environment. Generally, the more contaminated
environment, the closer maintenance intervals.

The following parts are considered as wear parts:

Water/air couplings

Signal pins

Servo power pins and sockets
Weld power pins and sockets
Guide pins and bushings

Air sealings

O-rings

O O O O O O O

1.4 Complementary equipment from RSP

Complementary equipment is described in separate documents.

Article Note

External valve units Mounted at the rear of the upper arm. Shuts off air
automatically during tool change.

Cable and hose packages Complete packages for most robots on the market ready to
be mounted without any modifications.

Tool parking systems RSP tool parking systems give rigid installations for easy
tool changing.

Connection kits Connection kits for tool changers and tool attachments
simplifying electrical installations.

3D-models Available in Solid Works®, STEP and X=T-f0rmat.

8 MO0723-1 version 3.8



2 TECHNICAL SPECIFICATIONS

2.1 Description of tool changers and tool attachments

This document presents the RSP product family Moduflex, which is designed for maximum
flexibility. It can be used for various applications combining a large number of options in different
configurations which are generally useable within the entire product family. This document
presents:

o  The Robot System Products TC240, TC480, TC720 and TC960 tool changers
including tool attachments.

o  Options to configure tool changers and tool attachments. These options can, as well,
be ordered as accessories for retrofitting.

o  Connection kits to facilitate electrical installation.
An adaptation plate between the tool changer and the turning disc on the robot may be needed,
depending on the robot model. Such adaptation plates are available from RSP.

Dependent on model two or three guide pins are mounted in order to precisely align the tool
attachment with the tool changer before the electrical connectors are connected at a tool change
operation, this extends the lifetime for not spring-mounted signal pins.

The figure below is an example that shows a configuration for spot welding.

TC720-SWS

M0723-1 version 3.8 9



2.1.1 Coordinate System Definition

A tool changer adds load to the robot. If the arm and tool loads are not stated correctly during
programming the behaviour of the robot and the wear of the equipment will be affected.
Information about weight and maximum tool load can, in accordance with the co-ordinate
systems shown below, be found in the technical specification tables of the tool changers.

NOTE! For the tool changer, and tool changer with tool attachment, the origo of the
co-ordinate system is situated in the centre of the robot mounting flange.

=@

10 MO0723-1 version 3.8



2.1.2 Tool changer TC240-1, basic unit. Article: P6701A

D125

[T
l

-—

200

—
25 (|
EQ@ ODCJ

99.:5

The tool changer P6701A transfers 1 pneumatic channel to the tool attachment, has separate
inlets for Open TC and Close TC, 5 positions for options and 1 for magnetic sensors. To be used
together with tool attachment P6702.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 125-6-M10
Maximum tool load Fz (static) +2 400 N
Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm
Weight and centre of gravity (2)
P6701A 8.2 kg /38 mm
P6701A with P6702 13.5kg /55 mm
Air channels Pneumatic diagram Pne0230-008 (section 2.1.14)
User channels, robot side 1 x G %" (2 000 I/min, max 10 bar)
Dedicated channels, G 1/8” Open TC marked O (6-10 bar)
Close TC marked C (6—10 bar)
Air quality Oil-clean and waterless filtered air, with max
25pum particle content

MO0723-1 version 3.8 11



2.1.3 Tool attachment TA240-1, basic unit. Article: P6702

H7

@10

N
N

0200
H7

C Y

®80

e

O

\\‘

A

M8
@8.5

8.5 14

40

AA(1:1)

The tool attachment TA240-1 transfers 1 pneumatic channel to the tool and has 5 positions for
options. To be used together with tool changer P6701A.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 125-6-M10
Weight 5.1 kg
Maximum tool load Fz (static) +2 400 N
(M10 screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm
Maximum tool load Fz (static) +2 400 N
(M8 screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +750 Nm
Air channels Connection, tool side 1xG¥'
@ NOTE! Tools can be mounted to the tool attachment using six M10 screws,
I alternatively the tool attachment can be mounted to the tool using six M8 screws.

12 MO0723-1 version 3.8



2.1.4 Tool changer TC480-1, basic units. Article: P6801A

@160

D12 méb

(h [

240

M12

| H@ooo@H

99.5

The tool changer P6801A transfers 1 pneumatic channel to the tool attachment, has separate
inlets for Open TC and Close TC, 5 positions for options and 1 for magnetic sensors. To be used
together with tool attachment P6802 or P6872.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 160-10-M12
Maximum tool load Fz (static) +5000 N
Mx/My (dynamic) +5000 Nm
Mz (dynamic) +3500 Nm
Weight and centre of gravity (2)
P6S01A 13.1 kg /39 mm
P6801A with P6802/P6872 20.8 kg / 55 mm
Air channels Pneumatic diagram Pne0230-008 (section 2.1.14)
User channels, robot side 1 x G %" (2 000 I/min, max 10 bar)
Dedicated channels, G 1/8” Open TC marked O (6-10 bar)
Close TC marked C (6—10 bar)
Air quality Oil-clean and waterless filtered air, with max
25pum particle content

MO0723-1 version 3.8 13



2.1.5 Tool attachment TA480-1, basic unit. Article: P6802

A [ — 30 o

H7

240

A-A

The tool attachment P6802 transfers 1 pneumatic channel to the tool and has 5 positions for
options. To be used together with tool changer P6801A or P6851A.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 160-10-M12
Weight 7.7 kg
Maximum tool load Fz (static) +5000 N
(M12-screws) Mx/My (dynamic) +5000 Nm
Mz (dynamic) +3500 Nm
Maximum tool load Fz (static) +5000 N
(M10-screws) Mx/My (dynamic) +5000 Nm
Mz (dynamic) +2500 Nm
Air channels Connection, tool side 1xGY’

&) NOTE! Tools can be mounted to the tool attachment using ten M12 screws,
I alternatively the tool attachment can be mounted to the tool using ten M10 screws.

14 MO0723-1 version 3.8



2.1.6 Tool changer TC480-1, basic units. Article: P6851A

@160

D12 méb

(h [

240

M10

| H@ooo@H

99.5

The tool changer P6851A transfers 1 pneumatic channel to the tool attachment, has separate
inlets for Open TC and Close TC, 5 positions for options and 1 for magnetic sensors. To be used
together with tool attachment P6802 or P6872.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 160-10-M10
Maximum tool load Fz (static) +5000 N
Mx/My (dynamic) +5000 Nm
Mz (dynamic) +2500 Nm
Weight and centre of gravity (2)
P6851A 13.1 kg / 39 mm
P6851A with P6802/P6872 20.8 kg / 55 mm
Air channels Pneumatic diagram Pne0230-008 (section 2.1.14)
User channels, robot side 1 x G %" (2 000 I/min, max 10 bar)
Dedicated channels, G 1/8” Open TC marked O (6-10 bar)
Close TC marked C (6-10 bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content

MO0723-1 version 3.8 15



2.1.7 Tool attachment TA480-1, basic unit. Article: P6872

A —— 30 o

H7

240

A-A

The tool attachment P6872 transfers 1 pneumatic channel to the tool and has 5 positions for
options. To be used together with tool changer P6801A or P6851A.

Technical data

Working temperature +10°C-+50°C

Bolt pattern ISO 9409-1 160-10-M10
Weight 7.7 kg

Maximum tool load Fz (static) +5000 N

(M10-screws, Mx/My (dynamic) +5000 Nm

screw class 8.8) Mz (dynamic) +2500 Nm

Maximum tool load Fz (static) +5000 N

(M8-screws, Mx/My (dynamic) +5000 Nm

screw class 12.9) Mz (dynamic) +2500 Nm

Air channels Connection, tool side 1xGY’

® NOTE! Tools can be mounted to the tool attachment using ten M10 screws,
I alternatively the tool attachment can be mounted to the tool using ten M8 screws.

16 MO0723-1 version 3.8



2.1.8 Tool changer TC720-1, basic unit. Article: P6901A

280

TR

59,4X45°(3X

—

D12 mé
o

125 h7

O
o O
@)

M16(12X).

8 70

21 | 1095

—

The tool changer P6901A transfers 1 pneumatic channel to the tool attachment, has separate
inlets for Open TC and Close TC, 5 positions for options and 1 for magnetic sensors. To be used

together with tool attachment P6902A.

Technical data

Working temperature

+10°C-+50°C

Bolt pattern

ISO 9409-1 200-12-M16

Maximum tool load Fz (static)
Mx/My (dynamic)
Mz (dynamic)

+10 000 N
+10 000 Nm
+10 000 Nm

Weight and centre of gravity (2)

P6901A 20,4 kg / 45 mm
P6901A with P6902A 30.6 kg / 61 mm
Air channels Pneumatic diagram Pne0230-011 (section 2.1.15)

User channels, robot side

Dedicated channels, G 1/8”

Air quality

1 x G %" (2 000 I/min, max 10 bar)

Open TC marked O (6-10 bar)

Close TC marked C (6-10 bar)

Oil-clean and waterless filtered air, with max
25um particle content

MO0723-1 version 3.8

17



2.1.9 Tool attachment TA720-1, basic unit. Article: P6902A

[ 0o
’ 2 (/ 0*/

@ 12H7(2X)

=

168

® 200

—

280

[

@ 125H7
I\

8,5 2

T—

59X45°(3X)

—

The tool attachment P6902A transfers 1 pneumatic channel to the tool and has 5 positions for
options. To be used together with tool changer P6901A.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 200-12-M16
Weight 10.2 kg
Maximum tool load Fz (static) +10 000 N
(M16 screws) Mx/My (dynamic) +10 000 Nm
Mz (dynamic) +10 000 Nm
Maximum tool load Fz (static) +10 000 N
(M14 screws) Mx/My (dynamic) +10 000 Nm
Mz (dynamic) +7 500 Nm
Air channels Connection, tool side I1xGY
&) NOTE! Tools can be mounted to the tool attachment using twelve M16 screws,
I alternatively the tool attachment can be mounted to the tool using twelve M14
screws.

18 MO0723-1 version 3.8



2.1.10 Tool changer TC720-1, basic unit. Article: P6947

—— 300

D12mé
|

[[]

©® 200 ® ]

0280

@160 h7
[oXilo]
@)

59,38x45° (3x

M16 (16x)

21 | 109,50

The tool changer P6947 transfers 1 pneumatic channel to the tool attachment, has separate
inlets for Open TC and Close TC, 5 positions for options and 1 for magnetic sensors. To be used
together with tool attachment P6948.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 200-16-M16
Maximum tool load Fz (static) +10 000 N
Mx/My (dynamic) +10 000 Nm
Mz (dynamic) +10 000 Nm
Weight and centre of gravity (2)
P6947 20,4 kg / 45 mm
P6901A with P6948 30.6 kg /61 mm
Air channels Pneumatic diagram Pne0230-011 (section 2.1.15)
User channels, robot side 1 x G %" (2 000 I/min, max 10 bar)
Dedicated channels, G 1/8” Open TC marked O (610 bar)
Close TC marked C (6-10 bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content

MO0723-1 version 3.8 19



2.1.11 Tool attachment TA720-1, basic unit. Article: P6948

A o
. 200
@200

I

\©
] ©
A®

12 H7 (2x)

0280
G160 H7

. 8,50
P
Ny R
A @l_ 5;2 =~
x —
\ S 2 . g &
1 2 S
el —| N
'! = 16 2| 9
35
A 50

The tool attachment P6948 transfers 1 pneumatic channel to the tool and has 5 positions for
options. To be used together with tool changer P6947.

Technical data

Working temperature +10°C-+50°C
Bolt pattern ISO 9409-1 200-18-M16
Weight 10.2 kg
Maximum tool load Fz (static) +10 000 N
Mx/My (dynamic) +10 000 Nm
Mz (dynamic) +10 000 Nm
Air channels Connection, tool side 1xG%
&) NOTE! Tools can be mounted to the tool attachment using eighteen M16 screws,
I alternatively the tool attachment can be mounted to the tool using eighteen M14
screws.

20 MO0723-1 version 3.8



2.1.12 Tool changer TC960-1, basic unit. Articles: P7901A and P7901A-1

0350

88,4x45°(3X)_

D12méb
|

=]
Il
4] ]

D160 h7
O O

109.5

The tool changer P7901A (265-12-M16) and P7901A-1 (250-10-M12) transfers 1 pneumatic
channel to the tool attachment, has separate inlets for Open TC and Close TC, 5 positions for
options and 1 for magnetic sensors. To be used together with tool attachment P7902A.

Technical data

Working temperature

+10°C-+50°C

Bolt patterns 265-12-M16
250-10-M12

Maximum tool load Fz (static) +15 000 N
(P7901A) Mx/My (dynamic) +15 000 Nm
Mz (dynamic) +12 500 Nm

Maximum tool load Fz (static) +15000 N
(P7901A-1, Mx/My (dynamic) +10 000 Nm

screw class 12.9) Mz (dynamic) +9 000 Nm

Weight and centre of gravity (2)

P7901A/ P7901A-1

P7901A/ P7901A-1 with P7902A

27,7kg / 46 mm
43.6 kg / 61 mm

Air channels

Pneumatic diagram
User channels, robot side
Dedicated channels, G 1/8”

Air quality

Pne0230-011 (section 2.1.15)
1x G ¥” (2 000 I/min, max 10 bar)

Open TC marked O (6—10 bar)

Close TC marked C (6-10 bar)

Oil-clean and waterless filtered air, with max
25um particle content

MO0723-1 version 3.8

21



2.1.13 Tool attachment TA960-1, basic unit. Article: P7902A

B s

D250 @265 »L*;ST\SQ?\
‘ \ ‘ ;\7\@7/\ § e
/ 3 i
] I
81 -
15
>/201 8.5 g,
| |
D
D
2 b
g 1
. éj)
D o
=E
HTd—ls
l 12X
1 -
/\3\ 6l AA
A 35
50

The tool attachment TA960-1 transfers 1 pneumatic channel and to the tool and has 5 positions
for options. To be used together with tool changer P7901A.

Technical data

Working temperature +10°C-+50°C
Bolt patterns 265-12-M16
250-10-M12

Weight 15.9 kg

Maximum tool load Fz (static) +15 000 N

(265-12-M16 with M16 Mx/My (dynamic) +15 000 Nm

screws) Mz (dynamic) +12 500 Nm

Maximum tool load Fz (static) +15 000 N

(265-12-M16 with M14 Mx/My (dynamic) +15 000 Nm

screws) Mz (dynamic) +10 000 Nm

Maximum tool load Fz (static) +15 000 N

(250-10-M12 with M12, Mx/My (dynamic) +10 000 Nm

screw class 12.9) Mz (dynamic) +9 000 Nm

Maximum tool load Fz (static) +15 000 N

(250-10-M12 with M10, Mx/My (dynamic) +7 000 Nm

screw class 12.9) Mz (dynamic) +6 000 Nm
Air channels Connection, tool side 1xG ¥

© NOTE! Tools can be mounted to the tool attachment using twelve M16 screws or ten
I M12 screws, alternatively the tool attachment can be mounted to the tool using
twelve M14 screws or ten M10 screws.

22 MO0723-1 version 3.8



2.1.14 Pneumatic diagram Pne0230-008 for TC240-1 and TC480-1

= au | ¥ € [ 2 1
M&—‘mwov.czmmwn_ «.mm woo @Qm”cmN%mN.o: Emsoo mza.mu muu:uo:- d \\ Q3A0HddY _ 31va _ NOILdINOS3a _.>mm _mzo~_ ..........
T _ _ _ _ ‘_ wesBerp oy 0} pajsuuoD
Apwey yoedssaip o} mw_n_m‘_.o‘ouﬁw Em.hmm_v O_HNEDQC& l\\
uoneslunwwo) sNg / lIvliesed uonduoseq
F == £q panoiddy
08¥/0¥ZV.L 08¥/0¥CO.L &-NO.S% =
uonduoseq Aq paubiseq
....... 087/0¥2V 1 Juswydeny 00|
wesbelp InasY 0} PajosuLoY
3 L IOy
Z
} €
14
G2l9d
T uondo
Buiidnoo uinjai UON X{ Buidnoo uinjal UON X |
wouy Buldnos uinjas UoN Xy _ Buldnos uinyas UoN x|
a
81.9d
uondo
] aAeA pajesbaju|
[T e e e e R e 1
3 _ S | L€ T _
_ VLA §_ \ —W_r. LA _
14 4
_ Japuljko Jabueyn j0o| _
g I I S —
q
14
- € LUy
c
}
G129d
" uondo

08%/0%ZD.L 496ueyd oo

23

MO0723-1 version 3.8



2.1.15 Pneumatic diagram Pne0230-011 for TC720-1 and TC960-1

- mc ¥ 4 1
ﬁmemav.oz—v‘m@m A= L0 Oamuemﬁm.oc Eaﬂauo me%o“ S31o0NnpoJdd \\ om>oEu_< [ 31va [ NOILARIOS3a _ ['azu[anoz] 0 -
Ajwey soedssaup 0} mwﬂ._..o“« EMLON-U O_H.GE_)_QCAH_ \ F_.E_ mw.mcé_.ow_ pajoau0o suondo .cc.c<_ m_ _ P —
0 sng \ﬁyﬁmm ) ) uonduosag -
) i 7 : == £q panciddy
096 02, 08% 0¥CVL/OL ¥0-v0-210¢2 e
uonduosaq NH  #apsubiseq
NG S W93 096VL ‘0Z2V.L ‘08YY.L ‘0v2V.L JUSWUOBRY 001
[~ _|||||__||l|.|.|i|rl|||_
I IE IF IE: | - nou
€ — €
e 1, | 1 he—|| |
_<m -G2.9d _ _ -G2/9d _ _ V1-62.9d _ _ Vv&2.9d _
- _ uondo _ _ uondo I uondo _ _ uondo _
sBuidnod uinjes uoN
_ oA L P— [ it I PHHHY _ SBuIdnoo uInjaJ UON
Jd o || I || _ ollzduondo
| || I | | _7 . J
| || I I | m g_v t
W _ | I 1 | | v : _\_mi>_
| I I [ | SumAis Lales ot
of || || I I _ ygosduondo | |
| | I | | o 5
Iy I I I | Lt —
_ || I I _
‘ “ “ _ _ _ _ " “ Jepull&o 18BueyY |00
| | | | L122d/9)LLd uondo
|y — Iy — | Iy — _
— | | m | . __ I m _ LUy
| | __ I p—
| veSlad || veSked | VISWOd | velad |
v uondo uondo _ uondo _ uondo
- J - o g 1
09601 ‘02201 ‘0801 ‘0¥ZDL 1ebueyd ooy
8 [ L 9 [ S [ ¥ | € 1

MO0723-1 version 3.8

24



2.2 Options for tool changers and tool attachments

2.2.1 Integrated valve, TC Open/Close for TC240 and TC480. Article: P6718

- i | (@Y #% >\ O\
| O ."_/ ./l ‘ ‘\\.‘ \/ O ‘.""-,
——tedb{— }dibo
- ] \ S/ Q)
o o N= —
3
g e o o
® d !
! —_—
| s |

Includes two integrated valves. The TC Close valve is in passive position open, which is locking
the tool changer. The TC Open valve is in passive position evacuating the air from the unlocking
side of the piston inside the tool changer, which is allowing the tool to be locked.

In order to Open (unlock) the tool changer, the signals “doOpen TC 1” and “doOpen TC 2” shall
both be set to +24V DC. If one or both of the electrical signals disappear the tool changer will go
to closed (locked) position. Air is supplied via Air in on the tool changer.

To be mounted at one dedicated position on the tool changers P6701A (TC240) or P6801A and
P6851 (TC480).

& NOTE!
I Are prepared for options P6738-1, P7224, P6778 or P6780.

Technical data

Weight 0.5 kg
Electrical signals Circuit diagram See respective signal module.
Dedicated signals doOpen TC 1 (24V DC)
doOpen TC 2 (24V DC)
0V DC
Connection M8 3p
Air channels Pneumatic diagram Pne0230-008 (section 2.1.14)
Air supply Air in marked “AIR” on TC (6-10 bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content

MO0723-1 version 3.8 25



2.2.2 Integrated valve, TC Open/Close for TC720 and TC960. Article: P7710

Lol

(096D1)1°162

(0z21)1912

62,1

Includes two integrated valves. The TC Close valve is in passive position open, which is locking
the tool changer. The TC Open valve is in passive position evacuating the air from the unlocking
side of the piston inside the tool changer, which is allowing the tool to be locked.

In order to Open (unlock) the tool changer, the signals “doOpen TC 1” and “doOpen TC 2” shall
both be set to +24V DC. If one or both of the electrical signals disappear the tool changer will go
to closed (locked) position. Air is supplied via Air in on the tool changer.

To be mounted at one dedicated position on the tool changer P6901A (TC720) or P7901A

(TC960).
&

) |

NOTE!

Are prepared for options P6738-1, P7224, P6778 or P6780.

Technical data

Weight 0.3 kg
Electrical signals Circuit diagram See respective signal module.
Dedicated signals doOpen TC 1 (24V DC)
doOpen TC 2 (24V DC)
0V DC
Connection M8 3p
Air channels Pneumatic diagram Pne0230-011 (section 2.1.15)
Air supply Air in marked “AIR” on TC (6-10 bar)
Air quality Oil-clean and waterless filtered air, with max

25um particle content

26

MO0723-1 version 3.8



2.2.3 Valve adapter (external valve). Article: P7084

To be used for connecting external valves to tool changer. Includes blind plugs for covering
connections to the integrated valve and sensors on the tool changer when they are not in use.

To be mounted at one dedicated position on the tool changers P6901A (TC720-1) or P7901A
(TC960-1).

o NOTE!
I To be mounted when option P7710 Integrated valve is not used.

Technical data

Weight 0.1 kg

Air channels Pneumatic diagram Pne0230-011 (section 2.1.15)
Dedicated channels, 8 mm hose Open TC marked O (610 bar)
Close TC marked C (6—10 bar)

Air quality Oil-clean and waterless filtered air, with
max 25um particle content

M0723-1 version 3.8 27



2.2.4 Magnetic sensors TC Opened/TC Closed.
Articles: P6789, P6873-2, P7174 and P7175

One magnetic sensor which gives +24V signal “TC Opened” when tool changer is unlocked and
one magnetic sensor which gives +24V signal “TC Closed” when tool changer is locked. To be
mounted at one dedicated position on the tool changer.

2 NOTE!
Are prepared for options P6738-1, P7224, P6778 or P6780.

o NOTE!
I The magnetic sensors are each dedicated for a specific tool changer (see below).

Technical data

Weight 0.05 kg
Electrical sighals Circuit diagram See respective signal module.
Dedicated signals 0V DC, 24V DC
TC Closed (24V DC), TC Opened (24V DC)
Connections 2 x M8 3P
Magnetic sensor Tool changers
P6789 P6701A (TC240-1)
P6873-2 P6801A and P6851A (TC480-1)
P7174 P6901A (TC720-1)
P7175 P7901A (TC960-1)

28 MO0723-1 version 3.8



2.2.5 Signal interface Souriau, robot side. Article: P6738-1

W

Transfers 16 electrical signals to the tool attachment. Can be mounted at 4 different positions on
tool changer TC240 and TC 480 and 3 different positions on TC720 and TC960. To be used
together with option P6739 attached to the tool attachment.

On the housing 3 separate M8-contacts for connecting integrated valve and magnetic sensors

are mounted, which can be used for sensor-options P6789, P6873-2, P7174 or P7175 and
valve-options P6718 or P7710.

Technical data

Weight 0.2 kg

Electrical Circuit diagram E0178-246 (section 2.2.7)

signals Souriau 23P (UT001823PH) 16 x (2A, 60V) + PE
Dedicated signals, 3 x M8 3S 24V (for sensors)

0V (for valves and sensors)
TC Opened (sensor)

TC Closed (sensor)
doOpen TC 1 (valve)
doOpen TC 2 (valve)

Connection kits P8002 (connector) Souriau 23S (straight)
(optional) P8002-1 (connector) Souriau 23S (angled)

MO0723-1 version 3.8 29



2.2.6 Signal interface Souriau, tool side, Article: P6739

262(1C940)
227(1C720)
207 (TC480
187 (TC240)

Transfers 16 electrical signals to the tool. To be mounted at the tool attachment and used
together with option P6738-1 attached to the tool changer.

Technical data

Weight 0.2 kg

Electrical signals Circuit diagram E0178-247 (section 2.2.8)
Souriau 19S (UT001619SH) 16 signals + PE

Connection kits P8003 (connector) Souriau 19P (straight)

(optional) P8003-1 (connector) Souriau 19P (angled)

30 MO0723-1 version 3.8



(10) LO| -

(sefed jo ‘oN) ebed A8y

9v¢-8.104

(sweusyy) ‘ou uswnoog

ev

jeuno4

uopesINWWoD snd / lislieled

aoepajul leubig ‘ge/9d

uonduoseq

s8j2npoJd

1

\\ Qa3A0¥ddY 3iva

NOLLdI¥OS3a

‘A3d | 3NOZ

1

weibeip ynon) o} papauuo)

Aq panoiddy

SJOBJUOD-GIN XE + NBLNOS d-€Z ‘D1

uonduoseq

¥0-0L-2L02C

eeq

UL

Aq paubiseq

weiBelp NI 0} PRIIBULOD

SJOBJU0D-gIN

U/l

0CslL S 1

|\U

Newunos uld-€z
HAEZ81L00.LN

e

| goN0BIN0O-BW

pasolo JeBueyo 100 Nomm
Josusg ® o

<| ™|

¥

| Z'ON 19BIUOD-BIN

pauado sebuey 100 Smm
Josusg ® =

8€.9d Ul papnjoul jou si

aAjeA aBueyp |00} pue SI0Susg

——1

1

Twwsz'o

< o O o] w u] O x| =| x| | F{ =z af f

Jabuey) |00
8€.9d

e)enoeAg as0[) Jebueyy jooL

uadQ Jebueyod oo

paso|D 1ebueyo j0o )

(snonuuod) Avz
(snonunuod) A0
pauadQ Jabueyo |00

2.2.7 Circuit diagram E0178-246 for P6738-1

31

$30p0.g waysks 3000y UIPPIG0; ARJMGS 5

30y 553400 10Uy SRR PA). 0) SIS O 3ST URINPO.KY
VB2 PAURUOD UORTMIO 343 U PUD JUINNO0P S} Uf SYOM 3A2S3J IR

MO0723-1 version 3.8




2.2.8 Circuit diagram E0178-247 for P6739

(10) 10| -

LyC-8/103| ev

s19npoJd \\

[ v

€

1

a3A0¥ddY 3iva

NOLLAINOS3a ‘A3 | anoz -
(sebed jo 'oN) abed Aoy (aweuayy) "ou Juawnooq 1euLo \ - - = - weibeip ynos) o} pajosuuo)
 HA @ € 4
Ajwey oedsselp 0} BuIpIODY momtmu.c_ _mc _m mmen_
l1elleied 2 2 -
UolESILNWWOD SNE / lIlIesed uonduaseq Aq peaasddy
3 oo -
Neunos S-61 V.1 POROLCEDS o
uonduoseq Ul fq pauBiseq | |
weibelp JNaIID 0} PejasBULoD
3 3
Neunog 1o%008-61
HS619L00LN
[
t i t
ﬂ ez
<
| <
: 0z <
- PR G} < —
] Na/ R 7 <
T 50 <
H H 3 50/ £
| L} 23 WS o<
, m/AM N 64 G| m\xm 7T !
.V/l GI |\MUN N H A8/ HM €l
o5 M & PR yo) 7
05669 2T Ko7 0
05669 15— vy or <
© %e o @ (@] 1277 TA/FR 3
- = x A 0] g ¢ ||
urlr g S Ll ;
277 ] ]
1 § GL0C 27 No/FR T
T T ¥
237 ) T
. e ) z i
v Zwwez'o ¥R T
e I L i
SO/dO'SL 0£501 21900
JuswyoeyY |00
| 6€.9d ||
] v
8 _ L _ 9 _ S _ 2 £ 2 1

MO0723-1 version 3.8

32



2.2.9 Signal interface Souriau, robot side. Article: P7224

59

[R

—

W

Transfers 19 electrical signals to the tool attachment. Can be mounted at 4 different positions on
tool changer TC240 and TC 480 and 3 different positions on TC720 and TC960. To be used
together with option P7225 attached to the tool attachment.

On the housing 3 separate M8-contacts for connecting integrated valve and magnetic sensors
are mounted, which can be used for sensor-options P6789, P6873-2, P7174 or P7175 and
valve-options P6718 or P7710.

Technical data

Weight 0.2 kg
Electrical Circuit diagram E0178-764 (section 2.2.11)
signals Souriau 26P (UT001626PH) 19 x (2A, 60V) + PE

Dedicated signals, 3 x M8 3S

24V (for tool attachment)
24V (for sensors)

0V (for valves and sensors)
TC Opened (sensor)

TC Closed (sensor)
doOpen TC 1 (valve)
doOpen TC 2 (valve)

Connection kits
(optional)

P8025 (connector)

Compact Souriau 26S (straight)

MO0723-1 version 3.8

33



2.2.10 Signal interface Souriau, tool side, Article: P7225

262(1C940)
227(1C720)
207 (TC480
187 (TC240)

Transfers 19 electrical signals to the tool. To be mounted at the tool attachment and used
together with option P7224 attached to the tool changer.

Technical data

Weight 0.2 kg

Electrical signals Circuit diagram E0178-765 (section 2.2.12)
Souriau 26S (UT001626SH) 19 signals + PE

Connection kits P8012 (connector) Souriau 26P (straight)

(optional) P8012-1 (connector) Souriau 26P (angled)

34 MO0723-1 version 3.8



2.2.11 Circuit diagram E0178-764 for P7224

(10) L0

(sebed jo ‘on) ebed

¥9.-8/104

(sweusiy) “ou uswnoog

8|npow [eubis D1 ‘vZe/ld

s39NnpoJd

-4

_

€ 2 1

Qa3A0¥ddY

3iva

NOILdINOS3a ‘A3d | 3NOZ B

wesbeip ynong o} paypauuo)

35

Od

Aq pon

SE-8INXE + NEUNoS d

¥0-€0-6

102

aeq

UL

fq paubiseq

weiBeIp JNJID 0} PejIBuLoD

x>
anjeA pajesbaju| ¥
T zwug

¥2Z.d Ul papnjou jou ase
SOA[BA pUE SIOSUSS

paso|D sebuey) j0o)

Josuag

pauadQ Jebuey) |00

Josuag

Hd9Z910MOLN
neunos 4oz
J0j08UU0)
uomm NE
na
® a > 7 pajdnon/paso|) Jabueyd |00
€-8N'SY
_omm ” Na = AVZH+
® il : s pauado Jebueyo joo
s @ X looL
g NE w 101 uado
g a g A0 a
208 Zwufz'o ME d gRLIed0)
— Y
| 7 .
ﬁ - W X
T = Ly
| ) A
1 - e
| ("™ O/ T
h T ne/aa S
L] - SRS ]
" VT dh
ﬁ -1 T A N
i A T ] (]
| (T o U
ﬁ | — ] 5
1 3 Sid F
f T o) ]
? We T 5 3d
f Ng 3 3
4 Y 3 AvZ+
? = a °
| 3] ()
ﬁ NE ]
1 Zwugz'o ) v
([ — sl ewego ||
§0/d0’'sy
JuaWYoeY |00 19buey) |00
§ecld veald
€ | 2 1

53orpoug weyshs 3oq0y ‘UappROs KRS
Aapouym 553udxa 300U 5o P 0} JNSOPSP 0 asn Uop Npouday

VR PAURIUOD UORDAION 34 U PUD JUMNO0P SY. U SYO 3AJaS3J IR

MO0723-1 version 3.8




(10) 10| V

(sabed jo ‘oN) abed Ay

G9/-8/104d| ev

(sweusly) “ou swnoog

_ ¥ _ € _ 2 _ 1
s$39npoJd \ Q3A0HddY aiva NOLLdINOS3a ‘A3d | aNOZ =

- - = = = weibeip nang 0} pajosuuo)
. W . i h
Ajiwey yoedsselp o) BulpI02OY m_:coe _mcm_m <|F mNNNn—

TBIEEd 9d

jeunod

SINPOUJ W23SAS 3000Y UPPIAO; KRS S|

3o 553k 300 S0 P 0F JNSOPSP O 3N UORINPOIRY
B PAUTIUOD LRI 343 U PUD U0 S} U SHOM 3AJaS3u IR

MO0723-1 version 3.8

2.2.12 Circuit diagram E0178-765 for P7225

UoREAIUNWLIOD SNE | lIBlIEed uonduaseq Aq perosddy
neunos S-9¢ ¥0-€0-61L02 it
uonduoseq Ul fq peuBisaq -
wesbeip ynaid o) uw_uw&s.u
3
- HS92910MOLN
neunos s9z
J0j08UL0D
P f )
ﬁ W Pa | ,
T ,Vlu 1l
. Pz | ez | | e
oy I EIVTY zz< | ,
= L No/NG Z !
6 /A: 1 -6l PR ES oqu_lm 7
B~ 177 3] i
— il 9500 T | a<! | ||
05669 [T o/ FR a3 f
05669 >3 a/au 3 < | f
© mve o mm © RE] Y715 5 < {
+— ; (perdno v1) mYm | —NE < |
G ) 33 i
3 C \ “ / C W S8 e i 3
1 6 SL0C [ o T ,
125 na s
T S 5 ,
> ) 5 ,
- | T \ -
5 VA 3 |
>3 (] 3¢ | |
+ ,
Az >3 o - i
a = ¥ :
3 | NO € 7
i . ] z , i
v Zwugz'o HR 3 i
T —— E—— y
SO/dO'SL
JuswydERY |00 J1sbuey) 00
|| szzld vzzld | |
v v
8 [ L [ 5 I s v [ e [ 2 | 1

36




2.2.13 Signal interface Souriau, robot side. Article: P6711

59

[R

—

O
@
O

Transfers 23 electrical signals to the tool attachment. Can be mounted at 4 different positions on
tool changer TC240 and TC 480 and 3 different positions on TC720 and TC960. To be used
together with option P6721 attached to the tool attachment.

Technical data

Weight

0.2 kg

Electrical signals

Circuit diagram
Souriau 23P (UT001823PH)

E0178-207 (section 2.2.15)
23 x (2A, 60V)

Connection kits
(optional)

P8002 (connector)
P8002-1 (connector)

Souriau 23S (straight)
Souriau 23S (angled)

MO0723-1 version 3.8

37



2.2.14 Signal interface Souriau, tool side, Article: P6721

264(TC960)
229(1C720)
209 (TC480)
189 (TC240)

Q) 0955590
QocoS
O oone
Q 9 000 [e)
1—
; F TS
7T

Transfers 23 electrical signals to the tool. To be mounted at the tool attachment and used

together with option P6721 attached to the tool changer.

Technical data

Weight 0.2 kg

Electrical signals Circuit diagram E0178-208 (section 2.2.16)
Souriau 23S (UT001823SH) 23 signals

Connection kits P8001 (connector) Souriau 23P (straight)

(optional) P8001-1 (connector) Souriau 23P (angled)

38

MO0723-1 version 3.8



2.2.15 Circuit diagram E0178-207 for P6711

39

(Lo)1o| g L0¢-8/104| ¢ : ) _ m _ ; _ _
v Sipaost i ond sosecayochoserasy | OIAOHdY ava NOLLdIOS3a AR | 3NOZ &
" = weibeip jinau1) 0} pejoauun)
(sebed jo 'oN) abed | rey (sweuay) ‘ou juswnoog Jeuso4 - - - - -
i iy B aoepaul [eubis ‘| 129d
l1elleied 2 d -
uoEaIUNWWOD SNE / lIelesed uonduoseq Aq penouddy
€ - -l
neunos 4-€z ‘01 Zelee.
uonduoseq vd Aq paubisaq
wesBelp ynauD o} um_uwéouu
3
Neunos uld-6z
HJEZ8L00LN
[
. - w ] i
44 AT
M D NO N X
= No7RR <O e
_ i 7 A
L - 70— e
F |
"y x5 T
Jl.c||xau§||ml
=0T WS ¥
=11 0 <
) Ty 507FM N
] = )
oL\ [C7LT) T
_ _ N8 A
K NE&/HM r
11 8 Gl
] )4 e/ 5
11 S 3
A% VAT 3
2 L WM a
T AR 3
i THR g
C\ _ _/E ZWWGZ'0 v HR v d
| zuwgso | |
0Zgsk s 1 SO/dO'SY
19buey) |00
L129d
v
8 _ L 9 S _ 12 _ £ _ 2 _ 1

S39NPOUd WI3SAS 1000Y PRI KRS S|
Aypouano s53udxa 3n0uHA SapJ0d P} 0F JNSORSP W0 3N LORONPOUdaY

U PAUTIUOD UDHOMIOI 33 U PUD JUIOOP S U SIOM aaasau ap

MO0723-1 version 3.8




2.2.16 Circuit diagram E0178-208 for P6721

x ¥ £ | 2 1
AFOV Fo m wON wN Fom m< mu.u:uo-.—n \ A3A0dddY 3iva NOLLdI¥OS3a ‘N3 3NOZ =
. wesBeip ynaing 0} pajasuLoy
(sabed 3o 'oN) aBed| Aoy (sweus)y) *ou JuBWIND0Q Jewso \ - - = = =
Ay yoedssaip aoepaul eu m_w ‘12294
UONEAIUNWWOD SNE / IBlIBIed uoyduosag fq panoiddy
‘ - -
Neunos S-€7 'V.1 Sree
uonduasaq <n_ Aq paubisag
3
neunog }o3208-62
HS£28L00LN
Gl |
. e i =< |
1% na7R TS |
| I~ i
x— o 7 =<
G N7~ o< |
SO nd 7 &< |
- AT < —w< |
N :
l, 1 -
T 5 07 |
s XS/ e |
R WS o< |
m/Am 1 -6l CCH 50 fTers |
] v/..@/@OO\Q\\\mN N 907 &L
) o | |27 [] T |
OOOOO T [LTL) or < |
000 Gl S |
lo) 95002 o A g LS
[T N&7HR |
— .mu mVO ow, 5 | o _X_ LD
C \ _ /_I_ 0§ a/HR v Z-1
1531 = IER]
L G G102 i EVLL o<
G AL i *
| 2 | 9 HM € i
i G S AR z¢
PV Zuwgz'0 TR < |
[ ] zwwgso |
S0/dO'SL
JusWYOERY (00|
|| 12.9d
v
8 L [ 9 [ F - € [ 2 1

WA PAUTIUOD UGHUMIOI 3 U PUD JUIOOP SR W SIOM arasau oA

MO0723-1 version 3.8

40



2.2.17 Servo interface M23, robot side. Article: P6768-2

F—n

40
20 )

C940)

—~r

)
14

239 (TC7

199 (T

219 (TC480)
r
T

5
274

Transfers 8 servo power signals to the tool attachment. Can be mounted at 4 different positions
on tool changer TC240 and TC 480 and 3 different positions on TC720 and TC960. To be used
together with option P6772 attached to the tool attachment.

Technical data

Weight

0.2 kg

Servo power

Circuit diagram
M23 8P (Hummel 7.601.000.000,
insert 7.084.943.121)

E0178-314 (section 2.2.19)
4 x (5A, 300V) + 3 x (15A, 600V) + PE

Connection kits
(optional)

P8030 (Connector)
P8030-1 (Connector)

M23 8S (straight)
M23 8S (angled)

MO0723-1 version 3.8

41



2.2.18 Servo interface M23, tool side, Article: P6772-2

C

(
204 (TC240)
224 (TC480)
244 (TC720)
279 (TC940)

1
{
-1

Transfers 8 servo power signals to the tool. To be mounted at the tool attachment and used
together with option P6768 attached to the tool changer.

Technical data

Weight 0.2 kg

Servo power Circuit diagram E0178-321 (section 2.2.20)
M23 8S (Hummel 7.641.000.000, 8 power signals
insert 7.084.943.102)

Connection kits P8032 (Connector) M23 8P (straight)
(optional)

42 MO0723-1 version 3.8



2.2.19 Circuit diagram E0178-314 for P6768-2

- _ L4 _ £ _ 2 _ 1
(Lo} 10} D ¥71€-8.103| eV | saonposa 7 | -
" weuBeip jInu1) 0} pajoauLo)
(sebed 10 ‘oN) abed| Aoy (sweualy) ou Juswnoog Jewso4 l\\
Ajwey yoedssap wGNQQ 4
uoESINWWOD SNE / IBlIesed uonduoseq b Aq peaasddy
8|npow Jamod €ZN ‘DL crbieloe
uondusseq va Aq peuBiseq |
weibeip ynain o) um_uwéo.u
3 3
I
t 7 t
@) o (uid p+p pesul 30RJU0D) 28601
O 6 o |© (peaiy} 3jeW ‘asnoy 3oBjU09) 97601
| 8A\ £ 7A\ ds-€ZI |
o o ds ol
o L% |© T
m e (cT01) 3A/ND ! | 3d
| 2 [CILT) I , T -
’ | B2 (zoon) ¢ I = - '
A LA L oSAD SRS (50011 T m v
| | |
b oo :
L | 8 >4 (gcom) a9 a | -
| W2 ) {ocon)  na Sl (N
| 42 i (Gcom A9 g -
- ZwuBeo Geom — d i
S q
C..19d 8Inpowl Jamod VL 89/9d 9|npow Jamod D1
o v
8 — L 9 _ B — ¥ — £ — 2 — 1

SINPOLY UR3SAS 30004 UIPPRUOS AROMIS S|

43

MO0723-1 version 3.8



2.2.20 Circuit diagram E0178-321 for P6772-2

2 [ 1

z A [ v [ e
(to) 10| 0 12€-82103| v | saonpoud . -/
(sebed Jo "oN) abed Ay (aweusyy) "ou juswnaoq Jewo4 \
R G 2.19d
Joulold =
uolEaIUNWWOD SN / lIslesed uonduoseq £q panosddy
a|npow Jamod €Z\ ‘Y1 Slelvioe
uonduoseq r_n_us_ Aq paubiseg
uoidduUUod JBwoisn)
weiBelp }inalD 0} pejosuLe)
3
a
(183008 P+ Hasul JoU02) 88601
(peauy} ejeway 8snoy oejU00) $00 LI
Sg-€ZN
ds'vL
HEEN - 4
| 734 ] (€1o) 3A/ND 7 A
SCEE (80011) € h 9:A
B 7 7 , (Zoom) z A
7 i | 3 A Zwwipg’| (90011) 1 | S A
| Xg—1 = (ecol) ay ! 8A
7 “o L~ v P (ogotn) ng YA
‘ F 28 oA Geom A9 A
|V TV mwlogo ______©OW @[
2..9d 8INpoj\ Jemod v |

_ 25€-0€203

weiBeip ynalig 0} pajoaulon

|
|
|
|
|
|

89/9d @Inpol Jemod O |

w

5350poud ayshs 30908 ‘UaPPO3 AnrS S1

MO0723-1 version 3.8

44



2.2.21 Field bus interface Profinet, robot side. Article: P6771

59

264 TC960
229 1C720
209 TC480

L[]

189 TC240

HQ@O O QQDH

Ll S —=—F

Transfers 4 field bus signals to the tool attachment. Can be mounted at 4 different positions on
tool changer TC240 and TC 480 and 3 different positions on TC720 and TC960. To be used
together with option P6775 attached to the tool attachment.

Technical data

Weight 0.2 kg
Field bus Field bus type Profinet, Ethernet, EtherCAT
Circuit diagram E0178-317 (section 2.2.23)

M12 4S D-code

4 field bus channels

Connection kits
(optional)

11175 (field bus)

M12 4P D-code

MOQ723-1 version 3.8

45



2.2.22 Field bus interface Profinet, tool side, Article: P6775

e
o

oC
"

54

263(TC960)
228(TC720)
208 (TC480)
188 (TC240)

Transfers 4 field bus signals to the tool. To be mounted at the tool attachment and used together

with option P6771 attached to the tool changer.

Technical data

Weight

0.2 kg

Field bus

Circuit diagram
M12 4P D-code

E0178-320 (section 2.2.24)

4 field bus channels

Connection kits
(optional)

11257 (field bus)

M12 4S D-code

46

MO0723-1 version 3.8



2.2.23 Circuit diagram E0178-317 for P6771

L [ ¥ £ | 2 1
AFOV Fo m N Fm wN Pom m< muu:uo:-n \\ a3A0¥ddY Jiva NOILLdI¥OS3a A3y 3ANOZ 5 -
(soBed jo ‘o) ebeg | ney (oweuaiy) ‘ouwewnsoa|  jeunoy ULN  |ZL-20-6102 Paj0a.L02 plaIyS E] [Z0) i e L
3 \
Ajiwey yoedsse, HOCE.OL& —‘NNOQ
uoNEaIINWWOD SN / lIBlesed uonduaseq Aq peaciddy
Jauljold papod g-¢LIN DL Zl-LL-€10e e
uonduoseq vd Aq paubisaq
wesbelp Jnai) o) uw_uwéo.u
3
a
€cd
10U Papod O-ZLN
e L il
2¢:d # 7 ,
3 | 5 D TyIaNHoRd T | oo
| "t id VoA NO/HM TZIaNHoudT | eulold
| 2] / 90 TIaNdoudTy | Jouwod
| — | jeuyold
| b v P AT 50/ HM [ rIaNGodd ey
12/9d Jebuey) |00
1
jauljold }2/9d
v
8 _ L _ _ 2 £ _ 2

S3NPOUd WI3SAS 40003 UPPIMOS KRS S|
Koo ssaudxa 3n0uHa SapJvd pA 03 JNSORSP W0 3N LoRONPOUday

Ra PAUTIUOD UOHTMIOI B U PUD JUAID0P S U SHOM ahsasad IA

47

MO0723-1 version 3.8



2.2.24 Circuit diagram E0178-320 for P6775

(10) L0

(sebed 0 ‘oN) ebed

v

Aoy

0¢€-84104

(sweuayy) ‘ou Juswnoog

ev

1euLoy

HA

Apwey yoedssesp o) BuIpIOSOY

liellesed

uopedunwiwod SN / livliesed

Jaulold ‘G229d

uonduoseq

S39npoJd

e

€

1

=4

Q3N0¥ddY

31va NOILLdI¥OS3a

‘A3

(o4

weibe|p JInouID 0} PAjOBULCD

Aq peaciddy

1ouloId
j8uloId
jJouloId
jaulold

}auljold pepod g-ZLIN ‘Y1 chiele o
uoduoseg vd £q paubiseg
wesbeip ynang o} um.um:cuuu
3
d €cd
a
\
@/c@ © @k@
20003
- ©00
@\w@ © @W@
200 10BJUOO PaPOO Q-ZLIN
f S e/ (—
\p |y — ! 5 ot
3 1 024 )V IaNHodITY | 3] J—
R A N O NG/ F N
| ! AN —
RGNS 50 (—
| XTTaNH0a Ty 7 50/mm ST AT —

jaulold G//9d

G/1/9d juswydeny |00

519np0.g WayshS 3000y UapPROS ARIAKS S|

Kypouno $saudxa 300UYA Sa0d PRy 0F NSOISP JO 25N LORINPOISY
U3 PAUDIUOD UOR OO U3 U PUD 3UBUND0P S U SYUBH AJASIL I

MO0723-1 version 3.8

48



2.2.25 Signal and servo interface, robot side. Article: P6778

| L]
o o o000 5]
i:] eee oooe| © ]
°°l| eee eee
000 000e) =]
| —

|

|

)
)

| .

Transfers 19 electrical signals, 7 servo power signals and 4 field bus signals to the tool
attachment. To be mounted at one dedicated position on the tool changer and used together
with option P6779 at the TA.

On the housing 3 separate M8-contacts for connecting integrated valve and magnetic sensors
are mounted, which can be used for sensor-options P6789, P6873-2, P7174 or P7175 and
valve-options P6718 or P7710.

Technical data

Weight 1.1 kg
Electrical Circuit diagram E0230-290 (section 2.2.27)
signals Compact Souriau 26P (UTOWO01626PH) | 19 x (2A, 30V) + PE
Dedicated signals, 3 x M8 3S 24V (for sensors)
QV (for valves and sensors)
TC Opened (sensor)
TC Closed (sensor)
doOpen TC 1 (valve)
doOpen TC 2 (valve)
M23 17P (7410 000 000, 7003 917 101) 6 x (2A, 60V)
Servo M23 8P (7601 000 000, 7084 943 101) 4 x (5A, 300V) + 3 x (15A, 600V) + PE
power
Field bus Field bus type Profinet, Ethernet, EtherCAT
M12 4S D-code, socket 4 (2 pairs) field bus channels, 100 Mbit/s
Connection P8025 (signals) Compact Souriau 26S (straight)
kits P8029 (signals) M23 17S (straight)
(optional) P8030 (servo) M23 8S (straight)

11175 (field bus)

M12 4P D-code, pin

MO0723-1 version 3.8

49



2.2.26 Signal and servo interface, tool side. Article:

e 121 -
= [ I
iz
=
T PD- |

I T (
© (toco o |o ..\O }
0 |foooo oo - ot |

000 000 el o | & S 5
o {0000 000 Yo | S S A

(TC240)
(TC480)
(TC720)

287

(TC960)

P6779

O

Transfers 19 electrical signals, 7 servo power signals and 4 field bus signals to the tool. To be
mounted at the tool attachment and used together with option P6778 attached to the tool

changer.

Technical data

Weight 1.1 kg
Electrical Circuit diagram E0230-291 (see section 2.2.28)
signals Compact Souriau 26S (UTOW61626SH) 13 + PE
M23 17S (7440 000 000, 7003 917 102) 6
Servo power M23 8S (7641 000 000, 7084 943 102) 7+ PE

Field bus

Field bus type
M12 4P D-code, pin

Profinet, Ethernet, EtherCAT
4 (2 pairs) field bus channels

Connection kits

P8022 (signals)

Compact Souriau 26P (straight)

(optional) P8031 (signals) M23 17P (straight)
P8032 (servo) M23 8P (straight)
11257 (field bus) M12 4S D-code, socket
50 MO0723-1 version 3.8



(zo) 10| 4

(sebed Jo ‘oN) abed AOY

06¢-0€2¢04

§10npodd ./

SMS

Ayuwe} yoedssaip 01 BuIPIOVY
JouloId
UOlEJIUNWWOYD SNY / lIBleied

[ 1

A

unb oalag

Buipjom j0dg

08¥D1 Jebueyo 00|

uond3uUu0od JBwoisny

weiBe|p Nl 0} PAjIBULOD

jduyoid' oL

\\\\

WWW

wesBelp o 0} PeIIBULOY

© 09€-8LL0V :aInpou [eubis
dsy

8..9d @INpo [eubis 91

Aq ponoiddy
oL-LL-€L02C
s1eq
va Aq paubiseq
IR
1 ZZI ELVL) —
i 7 v £ | T
1z - , _
Sz T L -
zulog') A ,
7 7 e A <] : 4
vz - s = , !
A
7 7 12 _. ] AD , -
Lloez =+ i 7T 7y v =
, LLE-BLLOV WY 91qED
7 , dsy
¥ : = 20 Bd enuguop
| 1T ,.
T PN " , 5
[l N8 W -
A - =
AL I NS 7 : -
[ = E Zwudg’o v 7 =
e S RS ! !
|
7 7 i) o
N & ] T
7 , - L T 3
ks : —
11 o L
9289d 7 7 i 7
289d ' |
£289d 7 7 | 2 7
|
juswyoepy jooy | | i
¢
ﬁ 7 ) | N
v A A )
H h 4
| v —
i 2GE-8L10V I 3(q8D)
] dsy
|| P ¢ -
[ i I ya
1 v p e | B8
\
7 7 [ | 14
% 1 VA PN i T
| 0 —
WUHZ0 Vo ot i T
1 £5€-8.10V I 38D
||
[ ]
B l» : b o A A T
7 7 mﬂn | [ [1:] = -
—— A = Y 4 z
| \Hr A e
] — U = W K T T
[ —x e Zuuheo v — ﬁ T

VSE-8LL0V I 3(GED
dsy

3d

Jamod onsss (N)y
samod onss (A)S
Jamod omniag (M) L

OLd A0
olLd
1816318 A0 101 €6 ¥80L
12 )G APZ 000 000 LO9L
dg-€ZN
ds oL
3d
(21607 40 ‘WE) A0
(01607 4O “I€) AVZ
(d0 'WL) A0
(d0'+11) Ave
pa|dnog/pasoid OL
MO dway
az|lenb3y
0d @zilenb3y
aledg
asedg
2YNY 13-
YNV 13+
USH
USH+ Hd9Z9L0MOLN
dgz neunog
S0/d0 0L
20x3
20X3 A0
LANO
L 101 216 £00L
IX A0 000 000 012
X dz1-e2n
18401
xy
+Xy
X1
L Je%00s '9p00 @
PEU0O-ZLN
HOMON'OL

2289d 1ebueyd ooy

2.2.27 Circuit diagram E0230-290 for P6778

51

53.0p0.d uaysS 30908 “UAPPR03 ANAS S|
Aoy 52 3nogys SaIod Py 0} 3NSOPSP S0 asn LORONPOaY

B3} PAURIUOD WORTAION 34 U PUD U0 SYY U SYOM 3443534 IR

MO0723-1 version 3.8




o ¥ € 2 1
(zo) 20| 062-0€203| eV | saonpoad | .
(sebed jo ‘oN) abed | ‘Aey (eweusly) ‘ou juewnooq Jeuso4 weiBelp jnaid 0} pio3uLey
Ajiwey yoedsse.p o} mcwguw C 3 Oamm n\\ 4
e eugord| Buipjem jods =
0 SN /lIelesed uonduoseq Aq penoiddy
0801 Jebueyo j0o] SO e
uopduoseq <Q Aq paubiseq —
UOJ}08UUOD JaWOISND _
weibeip unauiD 0] pajaUL0D
3 3
[l [ 20— . i
._Q\SOQ ﬂv_®>> i A 2, Z _ _ A ! Y3MOd 2 ¥3IMOd 01am
> ¥3amod
_lo|m=§n.s|m~._|-l_ _|-|-=|_
t t
— I N
Wun 91 0} 39euU0D H i | H
) pIDIq puncs \.m\|_|n\ _ _ _ )
— 1 1
”lm h _ _ pajdnon
- 8 ¢ " 7= /peson 0L ||
1osK [ U8 N _|“ v * _ e _ Ave
pauado Jabueyo |00 e e ]
g 1w 7”.¢|_ 5E 4 _ X _ pauedo 1 g
o= ; 28N : : :
F i r=—rf g — . ‘ | ~em| 101 usdo
14 aAeA pajelbau| e o3 ] w _ 7= A0
N 6 T = H ! 2| s N
EROEIA T [oow TR w0 | WA | o
1SE-BZE0V 4D 01ae0 $0/dO 0L
dsy
v ]
8 L 9 S ¥ [ 3 [ 2 [ i

MO0723-1 version 3.8

52



E0230-291 for P6779

ircuit diagram

2.2.28C

- ¥ € 2 1
(lo) 10| ® 162-0€C03| eV | s19npoud 1/ _ .
(sabed jo ‘oN) abed ADY (aweuayy) 'ou Juswnaog \\ weibe|p unauID O} PelosBuLoD
e omdssep o U unb onlas 3
—  vujoid| Buipjem jods -
uoEAINWWOD SAE / lIBlieed uondiosaq Aq penosddy
08YV.L Juswyoeye |00 | QELOCHIE
uondussea UL Aq peubBisag —
UONO3UUOD JBWOISN)
weiBeIp §NoIID 0} pejoBULoY R SR G T T e s
ETVAY) C o= | 3d
Jamod plap Z m— | ¥3MOd ) ¥IMOd TTIM
( | y3MOd I e
3 bozufusz TN 3
. i, — . — i — A G Sa— s A=, C— i Gn— 0 st 1
& 7
& i 3d
Ellh 3 M Jamod onsg (N)y |
- .N samod oniag (A)S 7
— —be T z 1 %ﬁuﬂ Mz.wm (ML |
1ouUyoId VL SO/dOVL L84'YL dS'VL I 7 (] Z o 7
=7 4 na b
201 €76 ¥80L “ ,_ A 5 M 181 8xeig A0 "
0000 0] oy = vV —atero o 7 | RN 7
dS'VL [0Z€-8ZL0V I 81qeD !
[ ey s 7 a
E b eV ok 3d ,
' ' _|w|\\\
7 - B 3 A 5 LA | (0607 dO'+7€E) AO 7
Ly = 4 Ty WA (01607 dO “IE) AVE |
o A 55 9% | (do'Wh Ao 7
= €A (dO+ ) AVE
7 3 4J,L 4 TR0 EN i
i
& A pa|dnoy/pasold DL 7
7 5 ™ A ! Mo dweyp |
137 o TA azienbg 7
7 S 5] SA 0d 8zienb3g !
3 s NG BiA Em“m 7 )
v o OLA aiedg
7 % ] i
i i
PX 91X PA 9LA e A . ® ux | v 1zg9d |
_ [ ] o v - ax | ZvNv13 z289d |
i H A 3
1 L e 7 L] ¥X | usM 9189d 7 I
sgz neunos | - 4 o BX 1 USHH 1ebueyp |00 |
=] vZ S/d0 VL 9568210 Wt 8IqeD 7
7 ] dsy
|
= J7 1 V\ 7 8 £ A ) x| 20x3 7
- ) ’ |y L > 58 okX | ZOX3 A0 !
. b
Y O (bood & & ) © : L 3 & WX | ZAAO a
° | T A= 7 = LX | LA
0000 000 . 201 LL6€00L 1 Jg \s - 9X | IXAO i
e 000 000 Ot¥L ! £X | IX
000 000 - seen | T L= = >3 7
0 \P20P 900 o 1841 [GSE-BLL0V W 21020 !
— 1 — i i 1 - dsy 7 | |
X
1 T U0 ,.EJ, 1 ; s 3ol O |
LX LA (¥4 = 1 / L O
7 ¢ X 4 ™ o R +Xy
EIX €A SZ | — A —Fr x| | :
uid *epoo @ %1 [l ' X1 |
ey e (WL A I S R |E—————
v MOMON'VL  LGE-8LLOV WY 91480 L9E-8LLOV “eInpoul eubis. v
dsy 6..9d @Inpoj ajbuls V1 dsy
9289d ‘€289d JuaWyoepy |00
8 | L [ 5 [ s [ v [ € [ 2 ;

53nposg UsAS 3000 ‘UapPROS KRk4S S|

53

MO0723-1 version 3.8



2.2.29 Signal and field bus interface, robot side. Article: P6780

_ 166.5 _ 585 _
_ 85 _ 1S 1.
E [F] Al | 1 i A |
T L]
© ® o © a
O w (OB Lo
00 o N o~ N N
% 000 oo0e) 3 ~ Q& &
11 ]

(TC240)
(TC480)

P 1 1

Transfers 9 electrical signals and 4 field bus signals to the tool attachment. To be mounted at
one dedicated position on the tool changer and used together with option P6781 attached to the
tool attachment.

On the housing 3 separate M8-contacts for connecting integrated valve and magnetic sensors
are mounted, which can be used for sensor-options P6789, P6873-2, P7174 or P7175 and
valve-options P6718 or P7710.

Technical data

Weight 1.1 kg

Electrical Circuit diagram E0230-292 (section 2.2.31)

signals Compact Souriau 26P (UTOW01626PH) | 9 x (2A, 30V) + PE
Dedicated signals, 3 x M8 3S 24V (for sensors)

0V (for valves and sensors)
TC Opened (sensor)

TC Closed (sensor)
doOpen TC 1 (valve)
doOpen TC 2 (valve)

Field bus Field bus type Profinet, Ethernet, EtherCAT

M12 4S D-code 4 (2 pairs) field bus channels, 100 Mbit/s
Connection P8025 (signals) Compact Souriau 26S (straight)
kits (opt.) 11175 (field bus) M12 4P D-code

54 MO0723-1 version 3.8



2.2.30 Signal and field bus interface, tool side. Article: P6781

(Al [Al I 1 1T 1
[ L]
o = O
o 000
| o (?OOO [e]e]e] /X I
1 — = = =l =
o S o o
< oe) N O
N ~t: N (0
Q ’Lj‘ Q Q

Transfers 9 electrical signals and 4 field bus signals to the tool. To be mounted at the tool
attachment and used together with option P6780 attached to the tool changer.

Technical data

Weight

1.0 kg

Electrical signals

Circuit diagram
Compact Souriau 26S (UTOW61626SH)

E0230-293 (section 2.2.32)
9+ PE

Field bus

Field bus type
M12 4P D-code

Profinet, Ethernet, EtherCAT
4 (2 pairs) field bus channels

Connection kits
(optional)

P8022 (connector)
11257 (field bus)

Compact Souriau 26P (straight)
M12 4S D-code

MO0723-1 version 3.8

55



2.2.31 Circuit diagram E0230-292 for P6780

= ; [ I [ [
ANOV 0| 3 N@N omNom €V | sjanpouad \\ aanouddv | 3iva q zo_r__zowmh [ naw _szN_ ~ -
(sebed j0 ‘oN) sBeg| Aey (sweualy) “ou uswnooq Jewio4 ll\\\ L e (Kol 01 PeRIID)
Ajwey yoedssesp o) mc_u_mw@\ =
UOBIIUNWIWOD wjmﬁﬂﬂmhmm mc__bcmc _m_LQHNE uonduoseg |>n peAciddy
0870.L 49bueyd |00 BHOVIE
o va
uonduoseq Aq paubiseq
UOj28UUO0 JoWO)SN)
well NoJIY 0] PaloBuUo)
’ | || |
| ' | i
| i i
—-— |UOIS DL 7 _ V W _
| | ey e
7 _ 7 i } e.\m A ¥ - Awmﬁn_o%;o
a i i — 17— v — _ Mu_mo,io.,_m;&
; | T 5 ——== (0 W Ao
soooL T |‘V., -——) o - 4 3 (do'+T1) AvT
, rTe—— = e _
7 — v. .Tju_. ! ” i Mﬂmﬂoo\oomo_o oL
| | 3 L ==t
| i - ==
} [ aJe
| | ] 5 -
! : ” ” TWuHzZ'0 7 _
. 7 1289d _ 7 7 7 _
jJusWwyoERY |00 _ 7 , ) i
9LA  9IX ? 8 ! 7 _
[ A [ ox | | o
B 7 7 7 i ! H Hd9Z9LOMOLN
1 \ 1 \ i dgz neunog
s 7 _ 7 ﬁ SO/d0 0L
-] / - i i
‘ o o\ =) | -
TN
|
@) Bl i B :
B eer)o | il
|| ] T \ ] ﬁ i Ha 1 2 i
- &
eoal x| | || va o
i & &y 5
W B B " N—
T Gapslioveempoweutis T WEUO-ZLN
v ds¥  0g/9d 8INPO [eubuis DL dsy S
0289d Jebuey9 0o
8 L S v | € 2 | 1

w

SJ‘:J:‘WSAS 3000y "UIpPIVOS ARHS 5

MO0723-1 version 3.8

56



X v [ e | 2 [ 1
(¢0) 20| 3 262-0€203| eV | saonpoaa | ;
(sabed jo ‘oN) 8bed | Aey (eweue|y) "ou Juewnooq Jeuno |\-\ wieiBeip naut) 0} pereuuod
Anwey yoedssaip 0} m:_Ew._uoé - — E]
o Buipuey jeusiep -
0 SNE / lIvlesed uonduoseq Aq penoiddy
08¥0.1 Jebueyo |00 SCLOPLOE
va,
a q peubiseq —
uoiodUU0D JBWolIsND
weiBep yinouD o} PajosuUoD)
E 3
t t
v1088d _| ._I . |_
Hun QL 0} JoeuUc)
2 PIDJq punosy { _ _ _ 3
| | | |
_h _ ' paydnon
] - T 7 _ /P3so|DQ DL ||
| | |
w _ 5 _ AVZ
+ ! ' pauado OL
€ A 1
! | |
F } I P
14 anjeA pajesbaju| w _ ™= A0
— 1 4 1 _ z 01 uedo -
m . 1 1 d 1
€1 8N | o8 onupueo | dgz neunog
TSE-Z10V 951 916D - - S0/d0 0L
dsy
v ]
8 A I 9 < v | € | 2 | i

57

MO0723-1 version 3.8



2.2.32 Circuit diagram E0230-293 for P6781

_ ¥ € _ 2 1

MO0723-1 version 3.8

A_‘Ov 0| 3 mmNIomNom ev 830NpoJd Q m aanouddy | auva NOLLJRIDS3a [ A [anoz| 2
(sebed jo ‘oN) ebed | ‘Aey (eweuayy) "ou jJuswnoog JeuLoS u S e ’ S 1 urmifeip YBcUEs o8 pRIOULIOD
Anwey yoedssaup 0} mEEW—R& m = 4
BUIOJ, =
Lm:mﬂ\__mﬂﬂnm C__UCNI _N_._QH.NE uoseq Aq panosdd
081Vl juswydeje |00 | leovioee
uopduoseq <D Aq peubiseq
UOID3UUOD JOWOJSN)
wesBeip ynauiD o} pajosuUo|
r R r -]
) w | | |
! ] ' 1 |
| . | |
i | . |
Jouyod VL SO/dOVL 7} \f el - L. & _ 2d _ 7
' ” ! H ! !
s H—~ = [y | |
t t5T AT Y a = ¢ ex | (dowh Ao — ,
| A —t— = m < £ _ (d0'+11) AVZ _ V
w W — " A _ pajdnon/pesolg oL i 7
' * m —~C » , eledg H M
| Fam = Bl e _ |
' >t ,7v L¢ o | erds ! !
* - i — _ oLiA _ aredg _ 7
u | | _ | _ 08294 7
i ] ‘ 6
X 91X  ¥A 9LA _ 7 _ _ “m_:uos_ leubis 91 7
_ 7 . | : _ ,
|| || | |
= ' ! i i i i
| HS92919MOLN 7 _ _ _ 7
sgzneunos | | i i i i
- SO/dD VL |Z9E-8L10V I 81geD
L e R |
S et | | | |
[ 000 * i i 1 i
o 000
L, U | B |
- | | | |
VAN B I
| Za e
€IX  €LA [ _ A 6% 7_ x4 _ ?
-y A F o | o _ |
) = 7 5 Bl e i i
e e A 2 S N I R — -
v WOMBN'VL  2SE-8LI0Y I 61a8D £96-8210V “oInpow jeubis
dsy 1829d @npol [eubls v1 dsy
8 | L | 9 | s | ¥ [ € [ 2 [ 8

58




2.2.33 Water/air coupling, 1-4 channels, robot side. Article: P6715A

143 (TC240)

=Ik=1k=)
| N| O
<| N[ O~
0] 0| O
==l 8w [t
™| M| o
0| 0| —
—_| —| N

52

Transfers 1-4 water/air channels, with non-return valves, to the tool attachment. Can be
mounted at 2 different positions on the tool changer. To be used together with option P6725A

attached to the tool attachment.

Technical data

Weight

1.4-1.6 kg (depending on no. of ducts)

Water/air channels

Pneumatic diagram
Water/air connections
Water flow

Water/air quality

Pne0230-011 (section 2.1.15)
1-4 x G¥" (2000l/min air, max 10 bar)

20 I/min
Max 25um particle content

Number of ducts

Article number

Water/air channels

A WDN PR

P6715-1A
P6715-2A
P6715-3A
P6715-4A

MO0723-1 version 3.8

59



2.2.34 Water/air coupling, 1-4 channels, tool side. Article: P6725A

e

218 (TA960)
183 (TA720)
163 (TA480)
143 (TA240)

Transfers 1-4 water/air-channels, with non-return valves, to the tool. To be mounted at the tool
attachment and used together with option P6715A attached to the tool changer.

Technical data

Weight

1.4-1.6 kg (depending on no. of ducts)

Water/air channels

Total number of ducts
Water/air quality

1-4 (see article numbers. below)
Max 25um particle content

Article number

Number of ducts

Water/air channels 1 P6725-1A
2 P6725-2A
3 P6725-3A
4 P6725-4A

60

MO0723-1 version 3.8



2.2.35 Weld power connector M40, robot side. Article: P6716

7
(TC960)

,5

7o)
7o)

10,5
0

190,5(TC240)
(TC480)
30,5(TC
6

N

)
L
ok
Lo

—_—

Connects 3 weld power conductors to the tool attachment. Can be mounted at 2 different
positions at the tool changer with the cable gland to the left or the right. To be used together with

option P6726 attached to the tool attachment.

Technical data

Weight 1.1 kg
Weld power Total number of conductors 3 x (690V, 140A)
Connection Cable gland (M40x1.5) for a 3-conductor 19-28
mm cable

MO0723-1 version 3.8 61



2.2.36 Weld power connector M50, robot side. Article: P6784

ol ol o ol
<| ®© N O
N <r N o~
O O O O
=l = B =
wl v v v
ol o o w
—| ™ o
— N N N

—_— + — L

Connects 3 weld power conductors to the tool attachment Can be mounted at 2 different
positions at the tool changer with the cable to the left or the right. To be used together with

option P6726 attached to the tool attachment.

Technical data

Weight 1.2 kg
Weld power Total number of conductors 3 x (690V, 140A)
Connection Cable gland (M50 with insert grommet) for three
15 mm separate cables

62 MO0723-1 version 3.8



2.2.37 Weld power connector with MC connector, robot side. Article: P6717

64

(©)
©
‘

Mo

RS SW

,5(TC240)
0,5(1C480)
5(TC7

T
265,5(TC940)

|

o)
2
2

—— L

Connects 3 weld power conductors to the tool attachment. Can be mounted at 2 different
positions at the tool changer with the MC connector to the left or the right. To be used together

with option P6726 attached to the tool attachment.

Technical data

Weight 1.1 kg
Weld power Total number of conductors 3 x (690V, 140A)
Connection Corresponds to MC TSB150

MO0723-1 version 3.8 63



2.2.38 Weld power connector with RobiFix, robot side. Article: P6794

64 s
. [ I
N @ o
@) 7O
© o _|
¥ &8 & S © ©
78 | (@] < N (0,8
— = HL o g 9 ©
ol ol o Ys)
N =
N Cw‘ (@] N
| | |

Connects 3 weld power conductors to the tool attachment. Can be mounted at one position at
the tool changer with the RobiFix connector to the right. To be used together with option P6726

attached to the tool attachment.

Technical data

Weight 1.1 kg
Weld power Total number of conductors 3 x (690V, 140A)
Connection Corresponds to Robifix S35

64 MO0723-1 version 3.8



2.2.39 Weld power with cable gland, tool side. Article: P6726

d A\ I
3 ;
s :
2 883
> <. g §9°¢8
REEE
—| N N
|

Connects 3 weld power conductors to the tool. Can be mounted at the tool attachment with cable
gland to the left or the right. To be used together with option P6716, P6784 or P6794 attached to

the tool changer.

Technical data

Weight 1.1 kg
Weld power Total number of conductors 3

Connection Cable gland for a 3-conductor 19-28 mm cable
Connection kits P1521 (cable) Power cable 1.5 m (3x25mm) with cable lugs
(optional)

MO0723-1 version 3.8 65



2.2.40 Weld power connector 2 x M40, robot side. Article: P6766

‘ ‘ ® O
7 D
- |
O 9l 9o o 9
L SRR e o
2 g e r

201
221
241
276

+
\
!

Connects 6 weld power conductors to the tool attachment Can be mounted at 2 different
positions at the tool changer. To be used together with option P6767 attached to the tool

attachment.

Technical data

Weight 1.5 kg
Weld power Total number of conductors 2 X 3 x(690V, 140A)

Connection 2 x Cable glands (M40x1.5) for 3-conductor 19—
28 mm cables

66 MO0723-1 version 3.8



2.2.41 Weld power with 2 x cable gland, tool side. Article: P6767

7
© ©
AN

)
(Sh)
==/
gl
5 ©

,

201(TC240)

221(1TC480)

241(1C720)

276(TC960)
[

+

Connects 2 x 3 weld power conductors to the tool. To be mounted at the tool attachment and
used together with option P6766 attached to the tool changer.

Technical data

Weight 1.4 kg
Weld power Total number of conductors 2x3
Connection 2 x Cable glands for 3-conductor 19-28 mm
cable
Connection kits P1521 (cable) Power cable 1.5 m (3x25mm) with cable lugs
(optional)

MO0723-1 version 3.8 67



2.2.42 Weld power contact cover, tool side. Article: P6742

50

a N M—
g 383

s P N < N os —
O ol ol Ol :lgﬂ.—
=l = =l =l
—_ —| —=| <o
o~ —| o 0
pub N N N

+

To be used together with options P6716, P6717, P6794 P6766 when no power connector are
used on tool attachment.

Technical data

Weight 0.2 kg

68 MO0723-1 version 3.8



2.2.43 Air coupling, 8 channels, robot side. Article: P6847

l
\

J I
o]l ol ol o9
J € R X
2 B 2 E
2 o g g
- = =
eN@©) O
© Qo | 1 1
49,5

Transfers 8 pneumatic channels to the tool attachment. Can be mounted at 2 different positions
on the tool changer. To be used together with option P6848 attached to the tool attachment.

Technical data

Weight 0.8 kg
Air channels Total number of ducts 8 x G 1/4" (1000 I/min, max 10 bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content

MO0723-1 version 3.8 69



2.2.44 Air coupling, 8 channels, tool side. Article: P6848

148(TA240)
168(TA480)
188(TA720)
223(TA960)

Jo
Jo

O o
O o

49,5

Transfers 8 pneumatic channels to the tool. To be mounted at the tool attachment and used
together with option P6847 attached to the tool changer.

Technical data

Weight 0.8 kg
Air channels Total number of ducts 8 x G 1/4"
Air quality Oil-clean and waterless filtered air, with max
25um particle content

70 MO0723-1 version 3.8



2.2.45 Programming tool for TC480. Article: P7160

To be used on TC-side for programming of docking of TA480 to TC480 together with the
programming tool P7161 mounted on the TA.

Technical data

Weight ‘ 4.4 kg

2.2.46 Programming tool for TC480. Article: P7161

To be used on TA-side for programming of docking of TA480 to TC480 together with
programming tool P7160 mounted on the TC.

Technical data

Weight 3.5kg

MO0723-1 version 3.8

71



72

MO0723-1 version 3.8



2.2.47 TC ground socket. Article: P7239

To be mounted at the tool changers TC720-1 (P6901A) or TC960-1 (P7901A and P7901A-1)
and used for ground connection between the tool changer, tool attachment and robot.

Technical data

Weight 0.01 kg
Connection, ground M5/M8 (screw holes on tool changer)
Max current 140A

2.2.48 TA ground socket. Article: P7147

To be mounted at the tool attachments TA720-1 (P6902A) or TA960-1 (P7902A) and used for
ground connection between tool attachment, tool changer and tool.

Technical data

Weight

0.01 kg

Connection, ground
Max current

M5/M8 (screw holes on tool attachment)
140A

MOQ723-1 version 3.8

73



2.2.49 Forced opening kit. Article: P6910

To be mounted to dedicated connections at the tool changers TC240-1, TC480-1, TC720-1 or
TC960-1 and used for manual unlocking by connecting to a grease gun.

Technical data

Weight ‘ 0.2 kg

2.2.50 Robot adaptation kits

The flange of the tool changers has fastening holes in accordance with ISO 9409. For other bolt
circles adaptation plates, to be mounted between the tool changer and the robot flange, are
available. The product numbers of the adaptation kits are depending on actual combination of
robot and tool changer.

2.3 Limitation of Robot movements

There can be some limitations on the movement of axis 5 for some robot models. Contact Robot
System Products for more information.

74 MO0723-1 version 3.8



3 TC OPERATION AND INTERFACE

3.1 Required software function

The risk assessment for this tool changer (locking control function and monitoring) requires that
the software logic described below is adhered to by the system integrator installing the tool
changer.

Valve control with two monostable 3/2-valves.

“doOpen TC 2” signal “doOpen TC 1” signal

[ 00O

AL X/ —

V1.14 TC Open V1.12 TC Close
valve (NC) valve (NO)

o Theright valve, called TC Close, will in passive position allow the air pressure to move
the piston in the direction locking the tool. In active position the air will be allowed to be
evacuated from the cylinder without impacting the piston.

o The left valve, called TC Open, will in active position let the air pressure move the
piston in the direction unlocking the tool. In passive position the air will be evacuated
from this side of the cylinder, allowing the tool to be locked.

o As aconsequence, both valves must be activated to open the tool changer.

o The “doOpen TC 2" signal shall be interlocked with both a tool attachment (TA) present
jumper and a tool stand switch indicating the following safe conditions for opening the
tool changer:

* When there is no tool attachment mounted, the tool changer can be opened.
* When there is a tool attachment mounted, it is only possible to open the tool
changer when it is positioned in the tool stand.

MO0723-1 version 3.8 75



00O
| | ‘—@ Signal “TC Closed”

g 4—@ Signal “TC Opened”

Piston status monitoring sensors —_

There are two sensors built in into the main body supervising the location of the piston.
o Signal “TC Opened” is high when the piston is in open position.

o Signal “TC Closed” is high when the piston is in locked position.

Signal logic for picking up atool

Open the tool changer by setting signals “doOpen TC 1” and “doOpen TC 2” to high.
When signal “TC Opened” becomes high the tool changer has been opened and is
allowed to move to the tool attachment.

o When the tool changer is in position for picking up the tool attachment, the tool changer
should be closed (set signals “doOpen TC 1” and “doOpen TC 2” low).

o  When signal “TC Closed” is high, the tool changer has been closed and can start to
move.

o  When the closed tool changer has been lifted 10mm, the signal from the switch or
sensor mounted at the tool stand should be checked to confirm that the tool remains in
the tool changer.

Set “doOpen TC 1” and “doOpen TC 2” to high @

No

Is “TC Opened” high and “TC Closed” low? Wait
Yes

Move robot to tool stand

Is robot in position in tool stand? N Wait
Yes

Reset “doOpen TC 1” and “doOpen TC 2”

Is “TC Closed” high and “TC Opened” low? L Wait
Yes

Move robot up 10 mm

Is tool stand switch signals correct? g Stop
Yes

Continue work cycle I:I

76 MO0723-1 version 3.8



Signal logic for leaving a tool in the tool stand

O

Move the robot to the tool stand position

Opening of tool changer should only be possible when tool is positioned in tool stand. A
switch or sensor mounted at the tool stand should give a signal that allows the tool
changer to open.

Set signals “doOpen TC 1” and “doOpen TC 2” high, when the tool attachment is
positioned in the tool stand.

When signal “TC Opened” is high, the tool changer is opened and can start to move.

When the opened tool changer has been lifted 10mm, the signal from the switch or
sensor mounted at the tool stand should be checked to confirm that the tool remains in
the tool stand.

!

No | -
Is robot in position in tool stand? Wait |

Is “tool in stand” signal high? Wait

Yes

No

Yes

Set “doOpen TC 1” and “doOpen TC 2” to high

No
Is “TC Opened” high and “TC Closed” low”? Wait I

Yes

Move robot up 10 mm

Is tool stand switch signals correct? Stop

Continue work cycle

No

Yes

!

Functional test

For controlling that the tool change valves and the integrated locking spring are functioning
following tests should be made regularly:

O

With the tool changer in opened position:
Set “doOpen TC 2" to low and let “doOpen TC 1” remain high.
The signal “TC Closed” will become high.
With the tool changer in opened position:
Let “doOpen TC 2” remain high and set “doOpen TC 1” to low.
The signal “TC Closed” will become high.

MO0723-1 version 3.8 77



Breaking conditions

o Ifsignal “TC Closed” disappears when tool attachment is in tool changer, the robot
should be stopped.
o If signal “TC Opened” disappears, when tool changer is going to pick up the tool
attachment, the robot should be stopped.
o If signal “TC Opened” is high at the same time as “TC Closed” is high, the robot should
be stopped.
3.2 Sparking

A\

WARNING! Electrical and power signals must be switched off and disconnected
when docking the tool attachment. This is to prevent sparking between signal pins
and tool attachment.

3.3 Programming

The following will ensure a correct docking position.

Action

1 Attach a spare tool attachment to the tool changer.

2 Position the spare tool attachment above the tool attachment that is mounted at the tool.

3 The correct position is found when the tool attachments are parallel, centered and the
engraved arrows are on the same line.

4 Save the position. The robot can move to this position with high speed.

5 Dismount the spare tool attachment.

6 Go back to the saved position and move the tool changer (in axis 6 direction) the remaining
distance to the tool attachment (mounted at the tool).

7 Save the position. The robot should move the final distance to this position with low speed.

3.4 Tool Stand

) |

) |

NOTE!
To guarantee reliability and a long service-life for the tool changer, the tool stand
must be stable, both in terms of its design and attachment.

NOTE!
The tool stand must not be spring-loaded!

3.5 Tool Identification

Jumpers on signals at the tool attachment can be used to give information about which tool
attachment that is docked in the tool changer.

78

MO0723-1 version 3.8



4 SPARE PARTS

4.1 Tool changer

4.1.1 Parts list for TC240-1, P6701A

O

Iltem Description Part number Wear part Pcs

1 Mounting screw, M10x60 21212519-503 6

2 Damper 63550006-462 X 4

3 Guide pin P0230-175 X 3

4 Water/air coupling 10203 X 1
MO0723-1 version 3.8 79



80

MO0723-1 version 3.8



4.1.2 Parts list for TC480-1, P6801A and P6851A

Iltem Description Part number Wear part Pcs
1 Mounting screw, M12x60 (P6801A only) 21212519-544 10
1 Mounting screw, M10x60 (P6851A only) 21212519-503 10
2 Damper 63550006-462 X 4

3 Circlip 10818 1

4 Guide pin P0230-175 X 3

5 Water/air coupling 10203 X 1

MOQ723-1 version 3.8

81



4.1.3 Parts list for TC720-1, P6901A and P6947

Item Description Part number Wear part Pcs
1 Mounting screw, M16x75 (P6901A only) MCG6S 16x75 12
1 Mounting screw, M16x75 (P6947 only) MCB6S 16x75 16
2 Damper 63550006-462 X 3

3 Circlip 11253 1

4 Guide pin P0230-175 X 2

5 Water/air coupling 10203 X 1

MO0723-1 version 3.8



4.1.4 Parts list for TC960-1, P7901A and P7901A-1

Iltem Description Part number Wear part Pcs

1 Mounting screws M16x75 (12X) for P7914 1
P7901A (screw class 8.8)

1 Mounting screws M12x70 (10X) for P7915 1
P7901A-1 (screw class 12.9)

2 Damper 63550006-462 X 3

3 Circlip 11320 1

4 Guide pin P0230-175 X 2

5 Water/air coupling 10203 X 1

MOQ723-1 version 3.8 83



4.1.5 Parts list for integrated valve, P7710

—(

Item Description Part number Wear part Pcs
1 Valve 10449 1
2 Rear valve cover P0178-324 1
3 M4x6 screw 9ADA618-31 2
4 Valve cover P0178-323 1
5 Silencer 10903 2
6 Screw M4x8 21212711-287 4
7 Screw M6x6 MC6S 6x6 2

84

MO0723-1 version 3.8



4.1.6 Parts list for Valve adapter, P7084

Iltem Description Part number Wear part Pcs
1 Mounting screw, M3x16 21212519-228 2
2 Air connection 10371 2
3 O-ring 10090 1
4 O-ring 10436 1
5 Blind plug 10093 2
6 Blind plug 10165 2

4.1.7 Parts list for magnetic sensors, P7172, P7173, P7174 and P7175

Iltem Description Part number Wear part Pcs
1 Magnetic sensor 11015 2
2 Nut 101469 4
3 Sensor cable M8 11288 2

MO0723-1 version 3.8

85



4

| M4x8 screw

| MC6S M4x8

4.1.8 Parts list for forced opening kit, P6910

Item Description Part number Wear part Pcs
1 Nipple 11335 1

2 Coupling extender P0178-192 2

4.1.9 Parts list for signal interface, P6738-1, P7224, P6711 and P6771
Item Description Part number Wear part Pcs
1 Mounting screw, M6x60 and washer 21212519-382 and 3
21512062-153

2 Spring-loaded signal pin (P6738-1) 11287 X 17
2 Spring-loaded signal pin (P7224) 11287 X 21
2 Spring-loaded signal pin (P6711) 11287 X 23

86

MO0723-1 version 3.8



2 ‘ Spring-loaded signal pin (P6771) ‘ 11287 X 5

4.1.10 Parts list for servo interface M23, P6768-2

Iltem Description Part number Wear part Pcs

1 Shoulder screw 8x50 M6-8x50 3

4.1.11 Parts list for signal interface, P6778 and P6780

Item Description Part number Wear part Pcs

1 Shoulder screw 8x60 H 8X60 4

MOQ723-1 version 3.8 87



2 Spring-loaded signal pin (P6778)

11287

26

2 Spring-loaded signal pin (P6780)

11287

16

4.1.12 Parts list for weld power connector, P6716, P6784 and P6717

Item Description Part number Wear part Pcs

1 Shoulder screw 10x80 M8-10x80 3

2 Weld power socket 11001 X 3

3 O-ring 10160 3

88 MO0723-1 version 3.8



4.1.13 Parts list for water/air coupling, P6715A

Iltem Description Part number Wear part Pcs
1 Mounting screw, M10x45 MC6S 10x45 2
2 Water/air coupling 10203 X 1-4

4.1.14 Parts list for air coupling, P6847

Item Description Part number Wear part Pcs

2 Mounting screw, M10x50 MC6S 10x50 2

1 Air sealing 63550006-462 X 4
MOQ723-1 version 3.8 89



4.2 Tool attachment

4.2.1 Parts list for tool attachments, P6702, P6802 and P6872

Item Description Part number Wear part Pcs
1 Water/air coupling 10202 X 1
2 Guide bushing P0178-064 X 3

4.2.2 Parts list for tool attachments, P6902A, P7902A and P6948

Item Description Part number Wear part Pcs
1 Water/air coupling 10202 X 1
2 Guide bushing P0178-064 X 2

MO0723-1 version 3.8



4.2.3 Parts list for signal interface, P6739, P7225, P6721 and P6775

Item Description Part number Wear part ‘ Pcs
1 Mounting screw, M6x60 and 21212519-382 and 3
washer 21512062-153
2 O-ring P0178-349 X |1
4.2.4 Parts list for power interface M23, P6772-2
Item | Description Part number Wear part Pcs
1 Mounting screw, M6x60 and 21212519-382 and 3
washer 21512062-153
2 | O-ring P0178-350 X 1

MOQ723-1 version 3.8

91



4.2.5 Parts list for signal interface, P6779 and P6781

Item Description Part number Wear part Pcs

1 Mounting screw, M6x70 and 21212519-384 and 4
washer 21512062-153

2 O-ring 11048 X 1

92

MO0723-1 version 3.8



4.2.6 Parts list for weld power connector, P6726

Iltem Description Part number Wear part Pcs
1 Mounting screw, M6x80 21212519-386 4
2 Weld power pin P0230-105 X 3
3 O-ring 10776 3

MOQ723-1 version 3.8

93



4.2.7 Parts list for water/air coupling, P6725A

Item Description Part number Wear part Pcs
1 Mounting screw, M10x45 MC6S 10x45 2
2 | Water/air coupling 10202 X 1-4

4.2.8 Parts list for air coupling, P6848

\\
Item Description Part number Wear part Pcs
1 Mounting screw, M10x50 MC6S 10x50 2
2 Air sealing 63550006-462 X 4

94 MO0723-1 version 3.8






reP s




